Implementation of 1000MW Grid Connected Roof Top Solar PV System Scheme for Government Buildings in Different States/ Union Territory of India Under CAPEX/ RESCO Model (500MW Capacity PHASE - I)

PRICE BID for RESCO (For Projects Ranging From 2 MWp to 50 MWp) - MAIN BID

Andhra Pradesh

SI. No.	Year of Operation	Tariff (INR / kWh)	Discount Factor @ 11%	Discounted Tariff (INR / kWh)	
1	2	3	4	5 = 3 * 4	
1	1st Year (First Year)	3.939	1.000	3.939	
2	2nd Year (Second Year)	3.939	0.901	3.549039	
3	3rd Year (Third Year)	3.939	0.812	3.198468	
4	4th Year (Fourth Year)	3.939	0.731	2.879409	
5	5th Year (Fifth Year)	3.939	0.659	2.595801	
6	6th Year (Sixth Year)	3.939	0.593	2.335827	
7	7th Year (Seventh Year)	3.939	0.535	2.107365	
8	8th Year (Eighth Year)	3.939	0.482	1.898598	
9	9th Year (Ninth Year)	3.939	0.434	1.709526	
10	10th Year (Tenth Year)	3.939	0.391	1.540149	
11	11th Year (Eleventh Year)	3.939	0.352	1.386528	
12	12th Year (Twelveth Year)	3.939	0.317	1.248663	
13	13th Year (Thirteenth Year)	3.939	0.286	1.126554	
13	14th Year (Forteenth Year)	3.939	0.258	1.016262	
14	15th Year (Fifteenth Year)	3.939	0.238	0.913848	
16	16th Year (Sixteenth Year)	3.939	0.209	0.823251	
10	17th Year (Seventeenth Year)	3.939	0.188	0.740532	
18	18th Year (Eighteenth Year)	3.939	0.170	0.66963	
10	19th Year (Nineteenth Year)	3.939	0.153	0.602667	
20	20th Year (Twentieth Year)	3.939	0.138	0.543582	
20	21st Year (Twenty First Year)	3.939	0.124	0.488436	
22	22nd Year (Twenty Second Year)	3.939	0.112	0.441168	
23	23rd Year (Twenty Third Year)	3.939	0.101	0.397839	
24	24th Year (Twenty Fourth Year)	3.939	0.091	0.358449	
25	25th Year (Twenty Fifth Year)	3.939	0.082	0.322998	
	Total	0.000	INR 36.834	0.022000	
	Levellized Tariff for 25 Years (in I	R / kWh) = X/9 351		INR 3.939	
				Rupees Three and	
	Levellized Tariff for 25 Yea	re in Worde		Ninety Three Point	
	Levenized Tariff for 25 Tea			Nine Paisa	
				NILLE Faisa	
the Exce	 In case of discrepancy in the Main Bid File will prevail. Also It may be noted t to successful bidder / developer in India 	hat the applicable i	ncentive amou		
Note - 2	: - The year of operation for first year sh	all be calculated w.	e.f. date of co	mmercial operation to	
	rch of immediately succeeding financial			•	
	: - The year of operation from second ye		voar chall ba		
			i year shall be	calculated w.e.i. 1st	
April to	31st March of immediately succeeding f				
2	The levellized tariff shall be calculated u	up to three decimal	places. However	ver in case of a tie it	
а.	may be expanded to break the tie.				
b.					
с.	Maximum allowable Levellized Tariff for this part is as per clause no. 2 of Amendment-V.				
				Amenument-v.	
d.	Bids not in confirmity with above provis	sions will be rejecte	a		
Date		Signature of Authoriz	zed Signatory		
Place		Printed Name			
Address	Designation				

Seal

Implementation of 1000MW Grid Connected Roof Top Solar PV System Scheme for Government Buildings in Different States/ Union Territory of India Under CAPEX/ RESCO Model (500MW Capacity PHASE - I)

PRICE BID for RESCO (For Projects Ranging From 2 MWp to 50 MWp) - MAIN BID

				. /
SI. No.	Year of Operation	Tariff (INR / kWh)	Discount Factor @ 11%	Discounted Tariff (INR / kWh)
1	2	3	4	5 = 3 * 4
1	1st Year (First Year)	2.2	1.000	2.2
2	2nd Year (Second Year)	2.2	0.901	1.9822
3	3rd Year (Third Year)	2.2	0.812	1.7864
4	4th Year (Fourth Year)	2.2	0.731	1.6082
5	5th Year (Fifth Year)	2.2	0.659	1.4498
6	6th Year (Sixth Year)	2.2	0.593	1.3046
7	7th Year (Seventh Year)	2.2	0.535	1.177
8	8th Year (Eighth Year)	2.2	0.482	1.0604
9	9th Year (Ninth Year)	2.2	0.434	0.9548
10	10th Year (Tenth Year)	2.2	0.391	0.8602
11	11th Year (Eleventh Year)	2.2	0.352	0.7744
12	12th Year (Twelveth Year)	2.2	0.317	0.6974
13	13th Year (Thirteenth Year)	2.2	0.286	0.6292
14	14th Year (Forteenth Year)	2.2	0.258	0.5676
15	15th Year (Fifteenth Year)	2.2	0.232	0.5104
16	16th Year (Sixteenth Year)	2.2	0.209	0.4598
17	17th Year (Seventeenth Year)	2.2	0.188	0.4136
18	18th Year (Eighteenth Year)	2.2	0.170	0.374
19	19th Year (Nineteenth Year)	2.2	0.153	0.3366

ANDAMAN AND NICOBAR PART B (10 MWp)

20	20th Year (Twentieth Year)	2.2	0.138	0.3036	
21	21st Year (Twenty First Year)	2.2	0.124	0.2728	
22	22nd Year (Twenty Second Year)	2.2	0.112	0.2464	
23	23rd Year (Twenty Third Year)	2.2	0.101	0.2222	
24	24th Year (Twenty Fourth Year)	2.2	0.091	0.2002	
25	25th Year (Twenty Fifth Year)	2.2	0.082	0.1804	
	Total INR 20.572				
Le	Levellized Tariff for 25 Years (in INR / kWh) = X/9.351				
	Levellized Tariff for 25 Years in Words				

<u>Note-1</u>: - In case of discrepancy in the Main Bid (Excel File) and Electronic Form, the Price mentioned in the Excel File will prevail. Also It may be noted that the applicable incentive amount shall be released directly to successful bidder / developer in Indian Rupees (INR) only.

<u>Note - 2</u>: - The year of operation for first year shall be calculated w.e.f. date of commercial operation to 31st March of immediately succeeding financial year.

<u>Note - 3</u>: - The year of operation from second year upto twenty fifth year shall be calculated w.e.f. 1st April to 31st March of immediately succeeding financial year.

The levellized tariff shall be calculated up to three decimal places.

- a. However in case of a tie it may be expanded to break the tie.
- b. Tariff stream quoted by the bidder shall be levellized with a
- c. Maximum allowable Levellized Tariff for this part is as per clause
- d. Bids not in confirmity with above provisions will be rejected

Date	Signature of Authorized Signatory

Place Printed Name

Address

Designation

Seal

NIT for Implementation of 1000 MW Grid Connected Roof Top Solar PV System Scheme for Government Buildings in Different States / Union Territory of India Under CAPEX / RESCO Model (500 //W phase-I)

PRICE BID for RESCO (For Projects Ranging From 2 MWp to 50 MWp)

(To be Submitted Online in a Separate Envelope for General Category for Different States (Separate for each States / Union Territories / Islands) and Special Category States (separate for each S ate) of India Arunachal Pradesh super scribing name of the State / Special Category State)

	Year of Operation	Tariff (INR / kWh)	Discount Factor @ 11%	Discoun ed Tariff (INF kWh)
1	2 1st Year (First Year)	3	4	5 = 3 * 4
2		2.960	1.000	2.96
3	2nd Year (Second Year) 3rd Year (Third Year)	2.960	0.901	2.66696
4		2.960	0.812	2 40352
5	4th Year (Fourth Year)	2.960	0.731	2 16376
6	5th Year (Fifth Year)	2.960	0.659	1 95064
7	6th Year (Sixth Year)	2.960	0.593	1,75528
8	7th Year (Seventh Year) 8th Year (Eighth Year)	2.960	0.535	1.5836
9	9th Year (Ninth Year)	2.960	0.482	1,42672
10	10th Year (Tenth Year)	2.960	0.434	1.28464
11	11th Year (Eleventh Year)	2.960	0.391	1.15736
12		2.960	0.352	1.04192
13	12th Year (Twelveth Year)	2.960	0.317	0 93832
14	13th Year (Thirteenth Year)	2.960	0.286	0 84656
15	14th Year (Forteenth Year)	2.960	0.258	0 76368
16	15th Year (Fifteenth Year)	2.960	0.232	0.58672
	16th Year (Sixteenth Year)	2.960	0.209	0.61864
17	17th Year (Seventeenth Year)	2.960	0.188	0.55648
18 19	18th Year (Eighteenth Year)	2.960	0.170	0.5032
20	19th Year (Nineteenth Year)	2.960	0.153	0.45288
20	20th Year (Twentieth Year)	2.960	0.138	0.40848
	21st Year (Twenty First Year)	2.960	0.124	0.36704
22 23	22nd Year (Twenty Second Year)	2.960	0.112	0.33152
	23rd Year (Twenty Third Year)	2.960	0.101	0.29896
24	24th Year (Twenty Fourth Year)	2.960	0.091	0.26936
25	25th Year (Twenty Fifth Year)	2.960	0.082	0.24272
	Total		INR 27.679	
-	Levellized Tariff for 25 years(in	n INR / kWh) = X/9.351		INR 2.9
	Levellized Tariff for 25 y	vears in Words		Two Rupees Ninety Six Paise
e Exce rectly t ote - 2: st Mar ote - 3:	In case of discrepancy in the price bi I File will prevail. Also It may be note to successful bidder / developer in In - The year of operation for first year sch of immediately succeeding finance - The year of operation from second	d that the applicable ind dian Rupees (INR) only. shall be calculated w.e. ial year. year upto twenty fifth y	centive amount of com	nt shall be released mercial operation to
to 3	1st March of immediately succeedin	g financial year.		
	The levellized tariff shall be calculate	d up to three decimal p	laces. Howeve	er in case of a tie it
a. 1 b. 1	may be expanded to break the tie. Tariff stream quoted by the bidder sh	all be levellized with a	discounting ra	te of 11% only.
a. b. 1 c. 0	may be expanded to break the tie.	all be levellized with a for this part is as per cla	discounting ra ause no. 2.1.4,	te of 11% only.

12/05/2011

12-05-2017 Signature of Authorized Signatory

Place Gurgaon

Printed Name Karan Sharma

#408,4th Floor,Emaar MGF, Address Plam Spring Plaza,Golf Course Road, Sector-53,Gurgaon-122002

Director

Designation

Implementation of 1000MW Grid Connected Roof Top Solar PV System Scheme for Government Buildings in Different States/ Union Territory of India Under CAPEX/ RESCO Model (500MW Capacity PHASE - I)

PRICE BID for RESCO (For Projects Ranging From 2 MWp to 50 MWp) - MAIN BID

Assam_2MW

SI. No.	Year of Operation	Tariff (INR / kWh)	Discount Factor @ 11%	Discounted Tariff (INR) kWh)
1	2	3	4	5=3*4
1	1st Year (First Year)	2,42	1.000	2.42
2	2nd Year (Second Year)	2.42	0.901	2.18042
3	3rd Year (Third Year)	2.42	0.812	1.96504
4	4th Year (Fourth Year)	2.42	0.731	1.76902
5	5th Year (Fifth Year)	2.42	0.659	1.59478
6	6th Year (Sixth Year)	2,42	0.593	1.43506
7	7th Year (Seventh Year)	2.42	0.535	1.2947
8	8th Year (Eighth Year)	2.42	0.482	1.16644
9	9th Year (Ninth Year)	2.42	0.434	1.05028
10	10th Year (Tenth Year)	2.42	0.391	0,94622
11	11th Year (Eleventh Year)	2,42	0.352	0.85184
12	12th Year (Twelveth Year)	2.42	0.317	0.76714
13	13th Year (Thirteenth Year)	2.42	0.286	0.69212
14	14th Year (Forteenth Year)	2.42	0.258	0.62436
15	15th Year (Fifteenth Year)	2.42	0.232	0.56144
16	16th Year (Sixteenth Year)	2.42	0.209	0.50578
17	17th Year (Seventeenth Year)	2.42	0,188	0.45496
18	18th Year (Eighteenth Year)	2.42	0.170	0.4114
19	19th Year (Nineteenth Year)	2.42	0.153	0.37026
20	20th Year (Twentieth Year)	2.42	0.138	0.33396
21	21st Year (Twenty First Year)	2.42	0.124	0.30008
22	22nd Year (Twenty Second Year)	2.42	0,112	0.27104
23	23rd Year (Twenty Third Year)	2.42	0.101	0.24442
24	24th Year (Twenty Fourth Year)	2.42	0.091	0.22022
25	25th Year (Twenty Fifth Year)	2.42	0.082	0.19844
	Total		INR 22.629	
	Levellized Tariff for 25 Years	(in INR / kWh) = X/9.351		INR 2.4
	Levellized Tariff for 25	Two Rupees, Fourty Two Paise		

<u>Note-1</u>: - In case of discrepancy in the Main Bid (Excel File) and Electronic Form, the Price mentioned in the Excel File will prevail. Also It may be noted that the applicable incentive amount shall be released directly to successful bidder / developer in Indian Rupees (INR) only.

<u>Note - 2</u>: - The year of operation for first year shall be calculated w.e.f. date of commercial operation to 31st March of immediately succeeding financial year.

Note - 3: - The year of operation from second year upto twenty fifth year shall be calculated w.e.f. 1st April to 31st March of immediately succeeding financial year.

a. The levellized tariff shall be calculated up to three decimal places. However in case of a tie it may be expanded to break the tie.

b. Tariff stream quoted by the bidder shall be levellized with a discounting rate of 11% only.

c. Maximum allowable Levellized Tariff for this part is as per clause no. 2 of Amendment-V.

d. Bids not in confirmity with above provisions will be rejected

Date 11/5/2017

Place Jaipur

Signature of Authorized Signatory

Printed Name Rahul Choudhary

Address Ishwar Cables Private Limited F 661 ROAD NO 9F2 VKI AREA JAIPUR RAJASTHAN INDIA Designation

Seal

For Ishurar Cables Frt. Lid. Authorised Signatory

Executive Director

Implementation of 1000MW Grid Connected Roof Top Solar PV System Scheme for Government Buildings in Different States/ Union Territory of India Under CAPEX/ RESCO Model (500MW Capacity PHASE - I)

PRICE BID for RESCO (For Projects Ranging From 2 MWp to 50 MWp) - MAIN BID

BIHAR

SI. No.	Year of Operation	Tariff (INR / kWh)	Discount Factor @ 11%	Discounted Tariff (INR / kWh)
1	2	3	4	5 = 3 * 4
1	1st Year (First Year)	4.59	1.000	4.59
2	2nd Year (Second Year)	4.59	0.901	4.13559
3	3rd Year (Third Year)	4.59	0.812	3.72708
4	4th Year (Fourth Year)	4.59	0.731	3.35529
5	5th Year (Fifth Year)	4.59	0.659	3.02481
6	6th Year (Sixth Year)	4.59	0.593	2.72187
7	7th Year (Seventh Year)	4.59	0.535	2.45565
8	8th Year (Eighth Year)	4.59	0.482	2.21238
9	9th Year (Ninth Year)	4.59	0.434	1.99206
10	10th Year (Tenth Year)	4.59	0.391	1.79469
11	11th Year (Eleventh Year)	4.59	0.352	1.61568
12	12th Year (Twelveth Year)	4.59	0.317	1.45503
13	13th Year (Thirteenth Year)	4.59	0.286	1.31274
14	14th Year (Forteenth Year)	4.59	0.258	1.18422
15	15th Year (Fifteenth Year)	4.59	0.232	1.06488
16	16th Year (Sixteenth Year)	4.59	0.209	0.95931
17	17th Year (Seventeenth Year)	4.59	0.188	0.86292
18	18th Year (Eighteenth Year)	4.59	0.170	0.7803
19	19th Year (Nineteenth Year)	4.59	0.153	0.70227
20	20th Year (Twentieth Year)	4.59	0.138	0.63342
21	21st Year (Twenty First Year)	4.59	0.124	0.56916
22	22nd Year (Twenty Second Year)	4.59	0.112	0.51408
23	23rd Year (Twenty Third Year)	4.59	0.101	0.46359
24	24th Year (Twenty Fourth Year)	4.59	0.091	0.41769
25	25th Year (Twenty Fifth Year)	4.59	0.082	0.37638
	Total		INR 42.921	
	Levellized Tariff for 25 Years (in IN	R / kWh) = X/9.351		INR 4.59
Levellized Tariff for 25 Years in Words				Four Rupees & Fifty Nine paisa

<u>Note-1</u>: - In case of discrepancy in the Main Bid (Excel File) and Electronic Form, the Price mentioned in the Excel File will prevail. Also It may be noted that the applicable incentive amount shall be released directly to successful bidder / developer in Indian Rupees (INR) only.

<u>Note - 2</u>: - The year of operation for first year shall be calculated w.e.f. date of commercial operation to 31st March of immediately succeeding financial year.

Note - 3: - The year of operation from second year upto twenty fifth year shall be calculated w.e.f. 1st April to 31st March of immediately succeeding financial year.

The levellized tariff shall be calculated up to three decimal places. However in case of a tie it may be expanded to break the tie.

b. Tariff stream quoted by the bidder shall be levellized with a discounting rate of 11% only.

c. Maximum allowable Levellized Tariff for this part is as per clause no. 2 of Amendment-V.

d. Bids not in confirmity with above provisions will be rejected

For Suryam International Pvt. Ltd.

A.G.M.(Business Development)

Date 11.05.2017 Place BERHAMPUR Address M/S SURYAM INTERNATIONAL PVT. LTD. 2ND LANE, GANDHI NAGAR, BERHAMPUR, GANJAM, ODISHA -760001 Signature of Authorized Signatory Printed Name K.MANOJ REDDY Designation AGM

Seal

Implementation of 1000MW Grid Connected Roof Top Solar PV System Scheme for Government Buildings in Different States/ Union Territory of India Under CAPEX/ RESCO Model (500MW Capacity PHASE - I)

PRICE BID for RESCO (For Projects Ranging From 2 MWp to 50 MWp) - MAIN BID

Chandigarh_2MW

SI. No.	Year of Operation	Tariff (INR / kWh)	Discount Factor @ 11%	Discounted Tariff (INR kWh)
1	2	3	4	5=3*4
1	1st Year (First Year)	3.44	1.000	3.44
2	2nd Year (Second Year)	3.44	0.901	3.09944
3	3rd Year (Third Year)	3.44	0.812	2.79328
4	4th Year (Fourth Year)	3.44	0.731	2.51464
5	5th Year (Fifth Year)	3.44	0.659	2.26696
6	6th Year (Sixth Year)	3.44	0.593	2.03992
7	7th Year (Seventh Year)	3.44	0.535	1.8404
8	8th Year (Eighth Year)	3.44	0.482	1.65808
9	9th Year (Ninth Year)	3.44	0.434	1.49296
10	10th Year (Tenth Year)	3.44	0.391	1.34504
11	11th Year (Eleventh Year)	3.44	0.352	1.21088
12	12th Year (Twelveth Year)	3.44	0.317	1,09048
13	13th Year (Thirteenth Year)	3.44	0.286	0.98384
14	14th Year (Forteenth Year)	3.44	0.258	0.88752
15	15th Year (Fifteenth Year)	3.44	0.232	0.79808
16	16th Year (Sixteenth Year)	3.44	0.209	0.71896
17	17th Year (Seventeenth Year)	3.44	0.188	0.64672
18	18th Year (Eighteenth Year)	3.44	0.170	0.5848
19	19th Year (Nineteenth Year)	3.44	0.153	0.52632
20	20th Year (Twentieth Year)	3.44	0.138	0.47472
21	21st Year (Twenty First Year)	3.44	0.124	0.42656
22	22nd Year (Twenty Second Year)	3.44	0.112	0.38528
23	23rd Year (Twenty Third Year)	3.44	0.101	0.34744
24	24th Year (Twenty Fourth Year)	3.44	0.091	0.31304
25	25th Year (Twenty Fifth Year)	3.44	0.082	0.28203
1000	Total		INR 32.167	
_	Levellized Tariff for 25 Years (in INR / kWh) = X/9.351		INR 3.4
	Levellized Tariff for 25	Years in Words		Three Rupees, Forty Four Paise

directly to successful bidder / developer in Indian Rupees (INR) only. Note - 2: - The year of operation for first year shall be calculated w.e.f. date of commercial operation to

31st March of immediately succeeding financial year.

<u>Note - 3</u>: - The year of operation from second year upto twenty fifth year shall be calculated w.e.f. 1st April to 31st March of immediately succeeding financial year.

a. The levellized tariff shall be calculated up to three decimal places. However in case of a tie it may be expanded to break the tie.

b. Tariff stream quoted by the bidder shall be levellized with a discounting rate of 11% only.

c. Maximum allowable Levellized Tariff for this part is as per clause no. 2 of Amendment-V.

d. Bids not in confirmity with above provisions will be rejected

Date 11/5/2017

Place Jaipur

Printed Name

Rahul Choudhary

Executive Director

Signature of Authorized Signatory

Address Ishwar Cables Private Limited F 661 ROAD NO 9F2 VKI AREA JAIPUR RAJASTHAN INDIA

Designation

Sea

For Ishwar Cables Frt. Ltd. Authorised Signatory



> Amendment-Y C&P/MNRE/1000MW/RT/IND/122016

> Implementation of 1000MW Grid Connected Roof Top Solar PV System Scheme for Government Buildings in Different States/ Union Territory of India Under CAPEX/ RESCO Model (500MW Capacity PHASE - I)

PRICE BID for RESCO (For Projects Ranging From 2 MWp to 50 MWp) - MAIN BID

Chhattisgarh_2MW

SL No.	Year of Operation	Tartff (INR / kWh)	Discount Factor @ 11%	Discounted Tariff (INR / kWh)	
1	2	3	4	5=3*4	
1	1st Year (First Year)	3.22	1.000	3.22	
2	2nd Year (Second Year)	3.22	0.901	2.90122	
3	3rd Year (Third Year)	3.22	0.812	2.61464	
4	4th Year (Fourth Year)	3,22	0.731	2.35382	
5	5th Year (Fifth Year)	3.22	0.669	2.12198	
6	6th Year (Sixth Year)	3.22	0.593	1.90946	
7	7th Year (Seventh Year)	3.22	0.535	1,7227	
	8th Year (Eighth Year)	3.22	0.482	1.56204	
	9th Year (Ninth Year)	3.22	0.434	1.39748	
10	10th Year (Tenth Year)	3,22	0.391	1.25902	
	11th Year (Eleventit Year)	3.22	0.352	1.13544	
12	12th Year (Tweiveth Year)	3.22	0.317	1.02074	
	13th Year (Thirteenth Year)	3.22	0.288	0.92092	
14	14th Year (Forteenth Year)	3.22	0.258	0.83076	
15	15th Year (Fifteenth Year)	3.22	0.232	0.74704	
16	16th Year (Sixteenth Year)	3.22	0.209	0.67298	
17	17th Year (Seventeenth Year)	3.22	0.188	0.60536	
18	18th Year (Eighteenth Year)	3.22	0.170	0.5474	
19	19th Year (Ninetsenth Year)	3.22	0.163	0.49268	
20	20th Year (Twentleth Year)	3.22	0.138	0.44436	
21	21st Year (Twenty First Year)	3.22	0.124	0.39928	
22	22nd Year (Twenty Second Year)	3.22	0.112	0.38064	
23	23rd Year (Twenty Third Year)	3.22	0.101	0.32522	
24	24th Year (Twenty Fourth Year)	3.22	0.091	0.29302	
25	25th Year (Twenty Fifth Year)	3.22	0.082	0.28404	
	Total		INR 30,110		
	Levellized Tariff for 25 Years (in	INR / kWh) = X/9.351		INR 3.22	
	Levellized Tariff for 25 Years in Words Three Rupees, Twenty Two Pais				

<u>Note-1</u>: - In case of discrepancy in the Main Bid (Excel File) and Electronic Form, the Price mentioned in the Excel File will prevail. Also It may be noted that the applicable incentive amount shall be released diractly to successful bidder / developer in Indian Rupees (INR) only:

Note - 2: - The year of operation for first year shall be calculated w.e.f. date of commercial operation to 31st March of Immediately succeeding financial year.

Note - 3: - The year of operation from second year upto twenty fifth year shall be calculated w.e.f. 1st April to 31st March of immediately succeeding financial year.

The levellized tariff shall be calculated up to three decimal places. However in case of a tie it may be expanded to break the fie.

b. Tariff stream quoted by the bidder shall be levellized with a discounting rate of 11% only.

c. Maximum allowable Levellized Tariff for this part is as per clause no. 2 of Amendment-V.

d. Bids not in confirmity with above provisions will be rejected

ghanna Signature of Authorized Signatory

Arun Kumar Khanna

∢

ഗ

Date 11.05.2017

Addres: C-138, Naraina Industrial Area,

Phase-1, New Delhi - 110028

- •

Printed Name

Place Delhi

Designation

Managing Director

teachden

INTE, ANTE

i ≶ ∺ ko. N. GEUHI

-6

ŧG



Implementation of 1000MW Grid Connected Roof Top Solar PV System Scheme for Government Buildings in Different States/ Union Territory of India Under CAPEX/ RESCO Model (500MW Capacity PHASE - I)

PRICE BID for RESCO (For Projects Ranging From 2 MWp to 50 MWp) - MAIN BID

SI. No.	Year of Operation	Tariff (INR / kWh)	Discount Factor @ 11%	Discounted Tariff (INR / kWh)	
1	2	3	4	5 = 3 * 4	
1	1st Year (First Year)	2.52	1.000	2.52	
2	2nd Year (Second Year)	2.52	0.901	2.27052	
3	3rd Year (Third Year)	2.52	0.812	2.04624	
4	4th Year (Fourth Year)	2.52	0.731	1.84212	
5	5th Year (Fifth Year)	2.52	0.659	1.66068	
6	6th Year (Sixth Year)	2.52	0.593	1.49436	
7	7th Year (Seventh Year)	2.52	0.535	1.3482	
8	8th Year (Eighth Year)	2.52	0.482	1.21464	
9	9th Year (Ninth Year)	2.52	0.434	1.09368	
10	10th Year (Tenth Year)	2.52	0.391	0.98532	
11	11th Year (Eleventh Year)	2.52	0.352	0.88704	
12	12th Year (Twelveth Year)	2.52	0.317	0.79884	
13	13th Year (Thirteenth Year)	2.52	0.286	0.72072	
14	14th Year (Forteenth Year)	2.52	0.258	0.65016	
15	15th Year (Fifteenth Year)	2.52	0.232	0.58464	
16	16th Year (Sixteenth Year)	2.52	0.209	0.52668	
17	17th Year (Seventeenth Year)	2.52	0.188	0.47376	
18	18th Year (Eighteenth Year)	2.52	0.170	0.4284	
19	19th Year (Nineteenth Year)	2.52	0.153	0.38556	
20	20th Year (Twentieth Year)	2.52	0.138	0.34776	
21	21st Year (Twenty First Year)	2.52	0.124	0.31248	
22	22nd Year (Twenty Second Year)	2.52	0.112	0.28224	
23	23rd Year (Twenty Third Year)	2.52	0.101	0.25452	
24	24th Year (Twenty Fourth Year)	2.52	0.091	0.22932	
25	25th Year (Twenty Fifth Year)	2.52	0.082	0.20664	
	Total		INR 23.565	-	
	Levellized Tariff for 25 Years	s (in INR / kWh) = X/9.3	51	INR 2.5	
	Levellized Tariff for 25 Years in Words Two Rupees Fifty tw paisa				
	- In case of discrepancy in the Main B le will prevail. Also It may be noted th				
successful bidder / developer in Indian Rupees (INR) only.					
	: - The year of operation for first year		e.f. date of commer	cial operation to 31st	
	of immediately succeeding financial ye				
Note - 3	: - The year of operation from second	year upto twenty fifth	h year shall be calcu	ated w.e.f. 1st April to	
<u>Note - 3</u> : - The year of operation from second year upto twenty fifth year shall be calculated w.e.f. 1st April to B1st March of immediately succeeding financial year.					

Dadra Nagar & Haveli-02MWp

a. expanded to break the tie.

b. Tariff stream quoted by the bidder shall be levellized with a discounting rate of 11% only.

c. Maximum allowable Levellized Tariff for this part is as per clause no. 2 of Amendment-V.

d. Bids not in confirmity with above provisions will be rejected

 Date
 11.05.2017
 Signature of Authorized Signatory

 Place
 Hyderabad
 Printed Name
 M.Srinivasa Reddy

 Address
 Fourth Partner House, Plot No.N46, H.No 4-9-10 HMT Nagar, Nacharam Hyderabad, Telangana, 500076
 Designation
 Head-Operations

SECI/C&P/MNRE/1000MW RT/IND/122016

ementation of 1000mw Snd Connected Roof Top Solar PV System Scheme for Government Buildings Different States/ Union Territory of India Under CAPEX/ RESCO Model (500MW Capacity PHASE - I)

PRICE BID for RESCO (For Projects Ranging From 2 MWp to 50 MWp) - MAIN BID

SI. No.	Year of Operation	Tariff (INR / kWh)	Discount Factor @ 11%	Discounted Tariff (INR) kWh)
1	2	3	4	5=3*4
1	1st Year (First Year)	3.39	1.000	3.39
2	2nd Year (Second Year)	3.39	0.901	3.05439
3	3rd Year (Third Year)	3.39	0.812	2.75268
4	4th Year (Fourth Year)	3.39	0.731	2.47809
5	5th Year (Fifth Year)	3.39	0.659	2.23401
6	6th Year (Sixth Year)	3.39	0.593	2.01027
7	7th Year (Seventh Year)	3.39	0.535	1.81365
8	8th Year (Eighth Year)	3.39	0.482	1.63398
9	9th Year (Ninth Year)	3.39	0.434	1.47126
10	10th Year (Tenth Year)	3.39	0.391	1.32549
11	11th Year (Eleventh Year)	3.39	0.352	1.19328
12	12th Year (Twelveth Year)	3.39	0.317	1.07463
13	13th Year (Thirteenth Year)	3.39	0.286	0.96954
14	14th Year (Forteenth Year)	3.39	0.258	0.87462
15	15th Year (Fifteenth Year)	3.39	0.232	0.78648
16	16th Year (Sixteenth Year)	3.39	0.209	0.70851
17	17th Year (Seventeenth Year)	3.39	0.188	0.63732
18	18th Year (Eighteenth Year)	3.39	0.170	0.5763
19	19th Year (Nineteenth Year)	3.39	0.153	0.51867
20	20th Year (Twentleth Year)	3.39	0.138	0.46782
21	21st Year (Twenty First Year)	3.39	0.124	0.42036
22	22nd Year (Twenty Second Year)	3.39	0.112	0.37968
23	23rd Year (Twenty Third Year)	3.39	0.101	0.34239
24	24th Year (Twenty Fourth Year)	3.39	0.091	0.30849
25	25th Year (Twenty Fifth Year)	3.39	0.082	0.27798
0	Total		INR 31.700	
	Levellized Tariff for 25 Years (i	in INR / kWh) = X/9.351		INR 3.3
	Levellized Tariff for 25		Three Point Three Nine	

For the state of Delhi - 1 MW

directly to successful bidder / developer in Indian Rupees (INR) only.

Note - 2: - The year of operation for first year shall be calculated w.e.f. date of commercial operation to 31st March of immediately succeeding financial year.

Note - 3: - The year of operation from second year upto twenty fifth year shall be calculated w.e.f. 1st April to 31st March of immediately succeeding financial year.

- The levellized tariff shall be calculated up to three decimal places. However in case of a tie it a. may be expanded to break the tie.
- Tariff stream quoted by the bidder shall be levellized with a discounting rate of 11% only. b.

c. Maximum allowable Levellized Tariff for this part is as per clause no. 2 of Amendment-V.

d. Bids not in confirmity with above provisions will be rejected

Date	12-05-2017	Signature of Authorized Signatory		
Place	Delhi	Printed Nan	he Horizon Renewable Power Pvt. Ltd.	
Address	910, PrakshDeep Building, 7 Tolstoy Marg New Delhi-110001	-	Manager- Business Development For Horizon Renewable Power Pvt. Ltd.	

Authorised Signatory/Director

#Solar4everyone

à.

NIT No. SECI/C&P/MNRE/1000MW RT/IND/122016

Implementation of 1000MW Grid Connected Roof Top Solar PV System Scheme for Government Buildings in Different States/ Union Territory of India Under CAPEX/ RESCO Model (500MW Capacity PHASE - I)

PRICE BID for RESCO (For Projects Ranging From 2 MWp to 50 MWp) - MAIN BID

Goa_2MW

SI. No.	Year of Operation	Tariff (INR / kWh)	Discount Factor @ 11%	Discounted Tariff (INR kWh)
1	2	3	4	5=3*4
1	1st Year (First Year)	3,14	1.000	3.14
2	2nd Year (Second Year)	3.14	0.901	2.82914
3	3rd Year (Third Year)	3.14	0.812	2.54968
4	4th Year (Fourth Year)	3.14	0.731	2.29534
5	5th Year (Fifth Year)	3.14	0.659	2.06926
6	6th Year (Sixth Year)	3.14	0,593	1.86202
7	7th Year (Seventh Year)	3.14	0.535	1.6799
8	8th Year (Eighth Year)	3.14	0.482	1.51348
9	9th Year (Ninth Year)	3.14	0.434	1.36276
10	10th Year (Tenth Year)	3,14	0.391	1.22774
11	11th Year (Eleventh Year)	3,14	0.352	1.10528
12	12th Year (Twelveth Year)	3.14	0.317	0.99538
13	13th Year (Thirteenth Year)	3.14	0.286	0.89804
14	14th Year (Forteenth Year)	3.14	0.258	0.81012
15	15th Year (Fifteenth Year)	3.14	0.232	0.72848
16	16th Year (Sixteenth Year)	3.14	0.209	0.65626
17	17th Year (Seventeenth Year)	3.14	0.188	0.59032
18	18th Year (Eighteenth Year)	3.14	0.170	0,5338
19	19th Year (Nineteenth Year)	3.14	0.153	0.48042
20	20th Year (Twentieth Year)	3.14	0.138	0.43332
21	21st Year (Twenty First Year)	3.14	0.124	0.38936
22	22nd Year (Twenty Second Year)	3.14	0.112	0.35168
23	23rd Year (Twenty Third Year)	3.14	0.101	0.31714
24	24th Year (Twenty Fourth Year)	3.14	0.091	0.28574
25	25th Year (Twenty Fifth Year)	3.14	0.082	0.25748
	Total	and the second s	INR 29.362	
	Levellized Tariff for 25 Years	(in INR / kWh) = X/9.351		INR 3.
	Levellized Tariff for 25	Years in Words		Three Rupees, Fourteen Paise
he Exc	- In case of discrepancy in the Main el File will prevail. Also It may be no to successful bidder / developer in	ted that the applicable	incentive amou	
	2: - The year of operation for first ye arch of immediately succeeding final		.e.f. date of co	mmercial operation
ote - 3	: - The year of operation from secon	nd year upto twenty fift	h year shall be	calculated w.e.f. 1st
	31st March of immediately succeed			
a.	The levellized tariff shall be calcula may be expanded to break the tie.		l places. Howe	ver in case of a tie it
b.	Tariff stream quoted by the bidder		adiscounting	rate of 11% only
с.	Maximum allowable Levellized Tar			
	A second s	an and a state state and a state of the		

d. Bids not in confirmity with above provisions will be rejected

Date 11/5/2017

Place Jaipur

Signature of Authorized Signatory

Address Ishwar Cables Private Limited F 661 ROAD NO 9F2 VKI AREA JAIPUR RAJASTHAN INDIA

Designation

Printed Name

Seal

For Ishwar Cables Prt. Lid. Authorised Signatory

Rahul Choudhary

Executive Director

Implementation of 1000MW Grid Connected Roof Top Solar PV System Scheme for Government Buildings in Different States/ Union Territory of India Under CAPEX/ RESCO Model (500MW Capacity PHASE - I)

PRICE BID for RESCO (For Projects Ranging From 2 MWp to 50 MWp) - MAIN BID

Gujarat

r	1			I	
SI. No.	Year of Operation	Tariff (INR / kWh)	Discount Factor @ 11%	Discounted Tariff (INR / kWh)	
1	2	3	4	5 = 3 * 4	
1	1st Year (First Year)	3.937	4	3.937	
2	2nd Year (Second Year)	3.937	0.901	3.547237	
3	3rd Year (Third Year)	3.937	0.812	3.196844	
4	4th Year (Fourth Year)	3.937	0.731	2.877947	
5	5th Year (Fifth Year)	3.937	0.659	2.594483	
6	6th Year (Sixth Year)	3.937	0.593	2.334641	
7	7th Year (Seventh Year)	3.937	0.535	2.106295	
8	8th Year (Eighth Year)	3.937	0.482	1.897634	
9	9th Year (Ninth Year)	3.937	0.434	1.708658	
10	10th Year (Tenth Year)	3.937	0.391	1.539367	
10	11th Year (Eleventh Year)	3.937	0.352		
12	12th Year (Twelveth Year)	3.937	0.317	1.385824 1.248029	
12	13th Year (Thirteenth Year)	3.937	0.286	1.125982	
13					
14	14th Year (Forteenth Year)	3.937	0.258	1.015746	
	15th Year (Fifteenth Year)	3.937	0.232	0.913384	
16	16th Year (Sixteenth Year)	3.937	0.209	0.822833	
17	17th Year (Seventeenth Year)	3.937	0.188	0.740156	
18	18th Year (Eighteenth Year)	3.937	0.170	0.66929	
19	19th Year (Nineteenth Year)	3.937	0.153	0.602361	
20	20th Year (Twentieth Year)	3.937	0.138	0.543306	
21	21st Year (Twenty First Year)	3.937	0.124	0.488188	
22	22nd Year (Twenty Second Year)	3.937	0.112	0.440944	
23	23rd Year (Twenty Third Year)	3.937	0.101	0.397637	
24	24th Year (Twenty Fourth Year)	3.937	0.091	0.358267	
25	25th Year (Twenty Fifth Year)	3.937	0.082	0.322834	
	Total		INR 36.815		
	Levellized Tariff for 25 Years (in IN	NR / kWh) = X/9.351		INR 3.937	
				Rupees Three and	
	Levellized Tariff for 25 Yea	rs in Words		Ninety Three Point	
				Seven Paisa	
Note-1:	- In case of discrepancy in the Main Bid	(Excel File) and Elec	tronic Form. tl	ne Price mentioned in	
	el File will prevail. Also It may be noted t				
	to successful bidder / developer in India	••		ant shan be released	
unectly	to successful bluder / developer in india	in Rupees (INR) only	<i>.</i>		
Note - 2	: - The year of operation for first year sh	all be calculated w.	e.f. date of co	mmercial operation to	
	arch of immediately succeeding financial				
	: - The year of operation from second ye	-		coloulated w.o.f. 1st	
			i year shall be	calculated w.e.i. 1st	
April to	31st March of immediately succeeding f				
2	The levellized tariff shall be calculated u	up to three decimal	places. Howev	ver in case of a tie it	
а.	may be expanded to break the tie.				
b.	Tariff stream quoted by the bidder shal	l be levellized with	a discounting	rate of 11% only.	
с.	Maximum allowable Levellized Tariff fo		-		
				Amenument-v.	
d. Bids not in confirmity with above provisions will be rejected					
Date	bids not in community with above provi	Signature of Authoriz	zed Signatory		
Date		Signature of Authoriz	zed Signatory		
		-	zed Signatory		
Date		Signature of Authoriz	zed Signatory		
Date Place		Signature of Authoriz	zed Signatory		
Date Place		Signature of Authoriz	zed Signatory		



o Amendment-V VC&P/MNRE/1000MW RT/ND/122016

Implementation of 1000MW Grid Connected Roof Top Solar PV System Scheme for Government Buildings in Different States/ Union Territory of India Under CAPEX/ RESCO Model (500MW Capacity PHASE - I)

PRICE BID for RESCO (For Projects Ranging From 2 MWp to 50 MWp) - MAIN BID

Haryana_2MW

	r na	i yana_zini		
SI. No.	Year of Operation	Tariff (INR / kWh)	Discount Factor @ 11%	Discounted Tariff (INR kWh)
1	2	3	4	5=3+4
1	1st Year (First Year)	3.32	1.000	3.32
2	2nd Year (Second Year)	3.32	0.901	2,99132
3	3rd Year (Third Year)	3.32	0.812	2.68584
4	4th Year (Fourth Year)	3.32	0.731	2,42692
5	5th Year (Fifth Year)	3.32	0.659	2.18788
6	6th Year (Sixth Year)	3,32	0.593	1.96876
7	7th Year (Seventh Year)	3.32	0.535	1.7762
8	8th Year (Eighth Year)	3.32	0.482	1.60024
9	9th Year (Ninth Year)	3.32	0.434	1.44088
10	10th Year (Tenth Year)	3.32	0.391	1.29812
11	11th Year (Eleventh Year)	3.32	0.352	1.18864
12	12th Year (Twelveth Year)	3.32	0.317	1.05244
13	13th Year (Thirteenth Year)	3.32	0.286	0.94952
14	14th Year (Forteenth Year)	3.32	0.258	0.85656
15	15th Year (Fifteenth Year)	3.32	0.232	0.77024
16	16th Year (Sixteenth Year)	3.32	0.209	0.69388
17	17th Year (Seventeenth Year)	3.32	0.188	0.62416
18	18th Year (Eighteenth Year)	3.32	0.170	0.5644
19	19th Year (Ninetsenth Year)	3.32	0.153	0.50796
20	20th Year (Twentleth Year)	3.32	0.138	0.45816
21	21st Year (Twenty First Year)	3.32	0.124	0.41168
22	22nd Year (Twenty Second Year)	3.32	0.112	0.37184
23	23rd Year (Twenty Third Year)	3.32	0.101	0,33532
24	24th Year (Twenty Fourth Year)	3.32	0.091	0.30212
25	25th Year (Twenty Fifth Year)	3.32	0.082	0.27224
	Total	1	INR 31.045	
	Levellized Tariff for 25 Years (in	INR / kWh) = X/9.351		INR 3.3
	Levellized Tariff for 25 Ye			Three Rupees, Thirty Two Palse
the E	- In case of discrepancy in the Main Bio xcel File will prevail. Also It may be not diffectly to successful bidder / develo	ed that the applicab per in Indian Rupees	le incentive ar (INR) only .	nount shall be
	: - The year of operation for first year s		.e.f. date of co	mmercial operation
	March of immediately succeeding final			
	: - The year of operation from second y 31st March of immediately succeeding		a year shall be	calculated w.e.t. 150
<u>а,</u>	The levellized tariff shall be calculated may be expanded to break the tie.		l places. Howe	ver in case of a tie it
Ь.	Tariff stream quoted by the bidder sha	all be levellized with	a discounting	rate of 11% only.

Tariff stream quoted by the bidder shall be levellized with a discounting rate of 11% only. b.

Maximum allowable Levellized Tariff for this part is as per clause no. 2 of Amendment-V. c.

Bids not in confirmity with above provisions will be rejected d.

هہ

Date 11.05.2017

Addres: C-138, Naraina Industrial Area, Phase-1, New Delhi - 110028

Signature of Authorized Signatory

Place Delhi

Printed Name Arun Kumar Khanna

Designation

Managing Director





Implementation of 1000MW Grid Connected Roof Top Solar PV System Scheme for Government Buildings in Different States/ Union Territory of India Under CAPEX/ RESCO Model (500MW Capacity PHASE - I)

PRICE BID for RESCO (For Projects Ranging From 2 MWp to 50 MWp) - MAIN BID

Himachal Pradesh_2MW

SI. No.	Year of Operation	Tariff (INR / kWh)	Discount Factor @ 11%	Discounted Tariff (INR kWh)
1	2	3	4	5=3*4
1	1st Year (First Year)	2.38	1.000	2,38
2	2nd Year (Second Year)	2.38	0.901	2.14438
3	3rd Year (Third Year)	2.38	0.812	1.93256
4	4th Year (Fourth Year)	2.38	0.731	1.73978
5	5th Year (Fifth Year)	2.38	0.659	1.56842
6	6th Year (Sixth Year)	2.38	0.593	1.41134
7	7th Year (Seventh Year)	2.38	0.535	1.2733
8	8th Year (Eighth Year)	2.38	0.482	1.14716
9	9th Year (Ninth Year)	2.38	0.434	1.03292
10	10th Year (Tenth Year)	2.38	0.391	0.93058
11	11th Year (Eleventh Year)	2.38	0.352	0.83776
12	12th Year (Twelveth Year)	2.38	0.317	0.75446
13	13th Year (Thirteenth Year)	2.38	0.286	0.68068
14	14th Year (Forteenth Year)	2.38	0.258	0.61404
15	15th Year (Fifteenth Year)	2.38	0.232	0.55216
16	16th Year (Sixteenth Year)	2,38	0.209	0,49742
17	17th Year (Seventeenth Year)	2,38	0.188	0.44744
18	18th Year (Eighteenth Year)	2.38	0.170	0.4046
19	19th Year (Nineteenth Year)	2.38	0.153	0.36414
20	20th Year (Twentieth Year)	2.38	0.138	0.32844
21	21st Year (Twenty First Year)	2.38	0.124	0.29512
22	22nd Year (Twenty Second Year)	2.38	0.112	0.26656
23	23rd Year (Twenty Third Year)	2.38	0.101	0.24038
24	24th Year (Twenty Fourth Year)	2.38	0.091	0.21658
25	25th Year (Twenty Fifth Year)	2.38	0.082	0.19516
S 1423	Total		INR 22.255	
1	Levellized Tariff for 25 Years (INR 2.3	
	Levellized Tariff for 25	Two Rupees, Thirty Eight Paise		

<u>Note-1</u>: - In case of discrepancy in the Main Bid (Excel File) and Electronic Form, the Price mentioned in the Excel File will prevail. Also It may be noted that the applicable incentive amount shall be released directly to successful bidder / developer in Indian Rupees (INR) only.

<u>Note - 2</u>: - The year of operation for first year shall be calculated w.e.f. date of commercial operation to 31st March of immediately succeeding financial year.

<u>Note - 3</u>: - The year of operation from second year upto twenty fifth year shall be calculated w.e.f. 1st April to 31st March of immediately succeeding financial year.

a. The levellized tariff shall be calculated up to three decimal places. However in case of a tie it may be expanded to break the tie.

b. Tariff stream quoted by the bidder shall be levellized with a discounting rate of 11% only.

c. Maximum allowable Levellized Tariff for this part is as per clause no. 2 of Amendment-V.

d. Bids not in confirmity with above provisions will be rejected

Date 11/5/2017

Place Jaipur

Address Ishwar Cables Private Limited F 661 ROAD NO 9F2 VKI AREA JAIPUR RAJASTHAN INDIA Designation

Printed Name

Signature of Authorized Signatory

Seal

*. Ltd.) For Ishwar Cables F Authorised Signatory

Rahul Choudhary

Executive Director

ation of 1000MW Grid Connected Roof Top Solar PV System Scheme for Government Mings in Different States / Union Territory of India Under RESCO Model ID for RESCO (For Projects Ranging From 2 MWp to 100 MWp)

super niine in a Separate Envelope for Genral Category for Different States (Separate for each price / Islands) and Special Category States (separate for each State) of India ______ super scribing name of the State / Special Category State)

JAMMU AND KASHMIR

Derration	Tariff (INR. / kWh)	Easter & rec	Discounted Tariff
2 rst Year) econd Year) bird Year) bh Year) xth Year) xth Year)		FLACTOR OF 1174	MULLY VILLA
rst Year) econd Year) aird Year) aurth Year) Ah Year) kth Year) kth Year)	8	4	5=3.4
econd Year) Jird Year) Jurth Year) Ah Year) kth Year) wenth Year)	4.21	1,000	12
bird Year) Jurth Year) Ab Year) Ath Year) wenth Year)	4.21	0.901	3.79321
uurth Year) Nh Year) xth Year) venth Year)	4.21	0.812	3.41852
Ibh Year) xth Year) wenth Year)	4.21	0.731	3.07751
kth Year) wenth Year)	4.21	0.659	2.77439
wenth Year)	4.21	0.593	2.49653
	4.21	0.535	2.26236
ghth Year)	4.21	0.482	2.02922
uth Year)	4.21	0.404	1.82714
enth Year)	4.21	0.391	1,64851
Jeventh Year)	4.21	0.352	1.48192
weiveth Year)	4.21	0.317	1.33467
hirteenth Year)	4.21	0.286	1.20406
orteenth Year)	4.21	0.258	1.08618
diteenth Year)	4.21	0.232	0.97672
ixteenth Year)	4.21	0.209	0.87989
eventoenth Year)	4.25	0.188	0.79148
ghteenth Year)	4.21	0.170	0.7157
-insteanth Year)	4.21	0.153	0.64413
wentieth Year)	4.21	0.138	0.58088
wently First Year)	4.21	0.124	0.52204
100.00	4.21	0.112	0.47152
	4.21	0,101	0,42521
	4.21	0.091	0.38311
wordy Filth Year)	4.21	0.082	0.34522
Total		INR 39.37	
zed Tariff for 25 years(in INR / kWh) = 39.37/9.351	h) = 39.37/9.351		INR 4.21
Levellized Tariff for 25 years in Words	Words		Rs Four & paise Twenty One only
bancy in the price bid (Excel File) and Electronic Form, the Price mentioned in the Excel File will led that the applicable incentive amount shall be released directly to successful bidder / developer	ronic Form, the Price hall be released diry	e memboned in th stily to successful	e Excel File will bidder / developer

nancial year.

ration from second year upto twenty fifth year shall be calculated w.e.f. 1st April to 31st March of nancial year

will shall be calculated up to three decimal places. However in case of a tie it may be expanded to

uoted by the bidder shall be levelized with a discounting rate of 11% only. wable Levelized Tariff for this part is as per clause no. 2.1.4, Part-II of RIS document. formity with above provisions will be rejected

General Manager Signature of Authorized Signatory Ajay Shutani Printed Name Designation A. Limited scior-34, α.

12800

2001 (Haryana)



Implementation of 1000MW Grid Connected Roof Top Solar PV System Scheme for Government Buildings in Different States/ Union Territory of India Under CAPEX/ RESCO Model (500MW Capacity PHASE - I)

PRICE BID for RESCO (For Projects Ranging From 2 MWp to 50 MWp) - MAIN BID

Jharkhand 2MW

SI. No.	Year of Operation	Tariff (INR / kWh)	Discount Factor @ 11%	Discounted Tariff (INR kWh)
1	2	3	4	5 = 3 * 4
1	1st Year (First Year)	3.49	1.000	3,49
2	2nd Year (Second Year)	3.49	0.901	3.14449
3	3rd Year (Third Year)	3.49	0.812	2.83388
4	4th Year (Fourth Year)	3.49	0.731	2.55119
5	5th Year (Fifth Year)	3,49	0.659	2.29991
6	6th Year (Sixth Year)	3.49	0.593	2.06957
7	7th Year (Seventh Year)	3.49	0.535	1.86715
8	8th Year (Eighth Year)	3.49	0.482	1.68218
9	9th Year (Ninth Year)	3.49	0.434	1.51466
10	10th Year (Tenth Year)	3.49	0.391	1.36459
11	11th Year (Eleventh Year)	3.49	0.352	1.22848
12	12th Year (Twelveth Year)	3.49	0.317	1.10633
13	13th Year (Thirteenth Year)	3.49	0.286	0.99814
14	14th Year (Forteenth Year)	3.49	0.258	0.90042
15	15th Year (Fifteenth Year)	3.49	0.232	0.80968
16	16th Year (Sixteenth Year)	3.49	0.209	0.72941
17	17th Year (Seventeenth Year)	3.49	0.188	0.65612
18	18th Year (Eighteenth Year)	3,49	0.170	0.5933
19	19th Year (Nineteenth Year)	3.49	0.153	0.53397
20	20th Year (Twentieth Year)	3.49	0.138	0.48162
21	21st Year (Twenty First Year)	3.49	0.124	0.43276
22	22nd Year (Twenty Second Year)	3.49	0,112	0.39088
23	23rd Year (Twenty Third Year)	3,49	0.101	0.35249
24	24th Year (Twenty Fourth Year)	3.49	0.091	0.31759
25	25th Year (Twenty Fifth Year)	3,49	0.082	0.28618
	Total		INR 32.635	
	Levellized Tariff for 25 Years	(in INR / kWh) = X/9.351		INR 3.4
	Levellized Tariff for 25	Years in Words		Three Rupees, Forty Nine Paise

directly to successful bidder / developer in Indian Rupees (INR) only.

Note - 2: - The year of operation for first year shall be calculated w.e.f. date of commercial operation to 31st March of immediately succeeding financial year.

Note - 3: - The year of operation from second year upto twenty fifth year shall be calculated w.e.f. 1st April to 31st March of immediately succeeding financial year.

The levellized tariff shall be calculated up to three decimal places. However in case of a tie it a. may be expanded to break the tie.

Tariff stream quoted by the bidder shall be levellized with a discounting rate of 11% only. b.

Maximum allowable Levellized Tariff for this part is as per clause no. 2 of Amendment-V. c.

d. Bids not in confirmity with above provisions will be rejected

Date 11/5/2017

Place Jaipur Signature of Authorized Signatory

Printed Name

Designation **Executive Director**

Rahul Choudhary

Address Ishwar Cables Private Limited F 661 ROAD NO 9F2 VKI AREA JAIPUR RAJASTHAN INDIA

Seal

st. Ltd. For Ishwar Cables F Authorised Signatory

4

Implementation of 1000MW Grid Connected Roof Top Sofar PV System Scheme for Government Buildings in Different States/ Union Territory of India Under CAPEX/ RESCO Model (600MW Capacity PHASE - I)

PRICE BID for RESCO (For Projects Ranging From 2 MWp to 50 MWp) - MAIN BID

General Category States of India-Kamataka-3524 kWp

1 2 1 16t Year (First Year) 2 2nd Year (Second Year) 3 3rd Year (Third Year) 4 4th Year (Fourth Year) 5 5th Year (Firth Year) 6 6th Year (Sixth Year) 7 7th Year (Seventh Year) 8 8th Year (Firth Year) 9 9th Year (Ninth Year) 10 10th Year (Tenth Year) 11 11th Year (Eleventh Year) 12 12th Year (Twelveth Year) 13 13th Year (Forteenth Year) 14 14th Year (Forteenth Year)	3 3.839 3.639 3.839	4 1,000 0,901 0,812 0,731 0,659 0,593 0,635 0,432 0,434 0,391 0,352 0,317	5 = 3 * 4 3.638 3.458939 3.117268 2.806309 2.529901 2.276527 2.055465 1.850398 1.666126 1.501049 1.551328
1 tst Year (First Year) 2 2nd Year (Second Year) 3 3rd Year (Third Year) 4 4th Year (Fourth Year) 5 5th Year (Fourth Year) 6 6th Year (Sixth Year) 7 7th Year (Seventh Year) 8 8th Year (Eighth Year) 9 9th Year (Inith Year) 10 10th Year (Tenth Year) 11 11th Year (Eleventh Year) 12 12th Year (Twelveth Year) 13 13th Year (Forteenth Year) 14 14th Year (Forteenth Year)	3.639 3.839 3.839 3.839 3.839 3.839 3.839 3.839 3.839 3.839 3.839 3.839 3.839 3.839 3.839 3.839	0.901 0.812 0.731 0.659 0.593 0.635 0.482 0.434 0.391 0.352	3,458939 3,117268 2,806309 2,529901 2,276527 2,053665 1,850398 1,866126 1,501049
2 2nd Year (Second Year) 3 3rd Year (Third Year) 4 4th Year (Fourth Year) 5 5th Year (Filth Year) 6 6th Year (Sixth Year) 7 7th Year (Seventh Year) 8 8th Year (Eighth Year) 9 9th Year (Ninth Year) 10 10th Year (Tenth Year) 11 11th Year (Eleventh Year) 12 12th Year (Twelveth Year) 13 13th Year (Forteenth Year) 14 14th Year (Forteenth Year)	3.839 3.839 3.839 3.839 3.839 3.839 3.839 3.839 3.839 3.839 3.839 3.839 3.839	0,812 0,731 0,659 0,593 0,535 0,482 0,434 0,391 0,352	3.117268 2.806309 2.629901 2.276527 2.053865 1.860398 1.666126 4.501049
3 3rd Year (Third Year) 4 4th Year (Fourth Year) 5 5th Year (Fith Year) 6 6th Year (Sixth Year) 7 7th Year (Seventh Year) 8 8th Year (Eighth Year) 9 9th Year (Ninth Year) 10 10th Year (Tenth Year) 11 11th Year (Eleventh Year) 12 12th Year (Theleveth Year) 13 13th Year (Thirteenth Year) 14 14th Year (Forteenth Year)	3.839 3.839 3.839 3.839 3.839 3.839 3.839 3.839 3.839 3.839 3.839	0.731 0.659 0.593 0.535 0.482 0.434 0.391 0.352	2.806309 2.629901 2.276527 2.053865 1.850398 1.666126 4.501049
4 4th Year (Fourth Year) 5 5th Year (Fifth Year) 6 6th Year (Sixth Year) 7 7th Year (Seventh Year) 8 8th Year (Eighth Year) 9 9th Year (Ninth Year) 10 10th Year (Tenth Year) 11 11th Year (Eleventh Year) 12 12th Year (Twelveth Year) 13 13th Year (Thriteenth Year) 14 14th Year (Forteenth Year)	3,839 3,839 3,839 3,839 3,839 3,839 3,839 3,839 3,839	0.659 0.593 0.635 0.482 0.434 0.391 0.352	2.629901 2.276527 2.053865 1.850398 1.866126 1.501049
5 5th Year (Fifth Year) 6 6th Year (Sixth Year) 7 7th Year (Seventh Year) 8 8th Year (Eighth Year) 9 9th Year (Rinth Year) 10 10th Year (Tenth Year) 11 11th Year (Eleventh Year) 12 12th Year (Thirteenth Year) 13 13th Year (Thirteenth Year) 14 14th Year (Forteenth Year)	3.839 3.839 3.839 3.839 3.839 3.839 3.839 3.839	0.593 0.635 0.482 0.434 0.391 0.352	2.276527 2.053665 1.850398 1.866126 1.501049
6 6th Year (Sixth Year) 7 7th Year (Seventh Year) 8 8th Year (Eighth Year) 9 9th Year (Ninth Year) 10 10th Year (Tenth Year) 11 11th Year (Eleventh Year) 12 12th Year (Twelveth Year) 13 13th Year (Forteenth Year) 14 14th Year (Forteenth Year)	3,839 3,839 3,839 3,839 3,839 3,839 3,839	0.535 0.482 0.434 0.391 0.352	2.053865 1.850398 1.666126 1.501049
7 7th Year (Seventh Year) 8 8th Year (Eighth Year) 9 9th Year (Ninth Year) 10 10th Year (Tenih Year) 11 11th Year (Eleventh Year) 12 12th Year (Twelveth Year) 13 13th Year (Thirteenth Year) 14 14th Year (Forteenth Year)	3.839 3.839 3.839 3.839 3.839 3.839	0.482 0.434 0.391 0,352	1,850398 1,666126 1,501049
9 9th Year (Ninth Year) 10 10th Year (Tenih Year) 11 11th Year (Eleventh Year) 12 12th Year (Twelveth Year) 13 13th Year (Thirbenth Year) 14 14th Year (Forteenth Year)	3.839 3.839 3.638 3.839	0.434 0.391 0.352	1.666126 1.501049
9 9th Year (Ninth Year) 10 10th Year (Tenih Year) 11 11th Year (Eleventh Year) 12 12th Year (Twelveth Year) 13 13th Year (Thirbenth Year) 14 14th Year (Forteenth Year)	3.839 3.639 3.839	0.391 0,352	1.501049
10 10th Year (Tenih Year) 11 11th Year (Eleventh Year) 12 12th Year (Twelveth Year) 13 13th Year (Thirteenth Year) 14 14th Year (Forteenth Year)	3.639 3.839	0,352	
11 11th Year (Eleventh Year) 12 12th Year (Twelveth Year) 13 13th Year (Thirteenth Year) 14 14th Year (Forteenth Year)	3.839		1.351328
12 12lh Year (Twelvelh Year) 13 13lh Year (Thirteenth Year) 14 14th Year (Forteenth Year)		0.3#7	
13 13th Year (Thirteenth Year) 14 14th Year (Forteenth Year)	3,839	4.011	1.216963
14 14th Year (Forteenth Year)		0.286	1.097954
	3.839	0.258	0.990462
15 15th Year (Fifteenth Year)	3,039	0.232	0,890648
16 16th Year (Sixteenth Year)	3.639	0.209	0.802351
17 17th Year (Seventeenth Year)	3.839	0.198	0.721732
18 18th Year (Eighteenth Year)	3,839	0,170	0.66263
19 19th Year (Nineteenth Year)	3.639	0.153	0.587367
20 20th Year (Twentleth Year)	3,839	0.138	0,529782
21 21st Year (Twenty First Year)	3.839	0.124	0.476036
22 22nd Year (Twenty Second Year)	3.839	0.112	0.429958
23 23rd Year (Twenty Third Year)	3.839	0,101	0.387739
24 24th Year (Twenty Fourth Year)	3.839	0.091	0.349349
25 25th Year (Twenty Fifth Year)	3,839	0.082	0.314798
Total		INR 35.898	11
	25 Years (in INR / kWh) = X/9.351		INR 3.
0.05031083	ariff for 25 Years in Words		three rupess eighty three point nin paise

12-05-2017 Date Place Hyderabad

Address

Mytrah Energy India Private Ltd. 8001, 8th Floor, Q-City, Nanakramguda, Gachibowli Hyderabad 500032, Telangana India

Sephatory Signature Authorized Curcune Viver Kattas Director - Finance (Solar Hisinger Hi + P



Format For Price Schedule

Implementation of 1000MW Grid Connected Roof Top Solar PV System Scheme for Government Buildings in States PRICE BID for RESCO (For Projects Ranging From 2 MWp to 50 MWp) - MAIN BID

econd Year) 3.97 0.901 3.57697 hird Year) 3.97 0.812 3.22364 purth Year) 3.97 0.731 2.90207 fth Year) 3.97 0.659 2.61623 xth Year) 3.97 0.593 2.35421 eventh Year) 3.97 0.593 2.35421 eventh Year) 3.97 0.482 1.91354 nth Year) 3.97 0.434 1.72298 enth Year) 3.97 0.391 1.55227 eleventh Year) 3.97 0.352 1.39744 welveth Year) 3.97 0.258 1.02426 inteenth Year) 3.97 0.268 1.02426 ifteenth Year) 3.97 0.232 0.92104 Sixteenth Year) 3.97 0.138 0.47636	SI. No.	Year of Operation	Tariff (INR / kWh)	Discount Factor @ 11%	Discounted Tariff (INR / kWh)
Strict (Year) 3.97 0.901 3.57697 nird Year) 3.97 0.812 3.22364 purth Year) 3.97 0.731 2.90207 fth Year) 3.97 0.659 2.61623 xth Year) 3.97 0.535 2.1295 ghth Year) 3.97 0.482 1.91354 nth Year) 3.97 0.482 1.91354 nth Year) 3.97 0.434 1.72298 ienth Year) 3.97 0.352 1.39744 welveth Year) 3.97 0.352 1.39744 welveth Year) 3.97 0.258 1.02426 Threenth Year) 3.97 0.266 1.13542 Forteenth Year) 3.97 0.223 0.92104 Sixteenth Year) 3.97 0.223 0.92104 Sixteenth Year) 3.97 0.138 0.74636 Sighteenth Year) 3.97 0.138 0.6749 Nineteenth Year) 3.97 0.138 0.60741 <t< td=""><td>1</td><td>2</td><td>3</td><td>4</td><td>5 = 3 * 4</td></t<>	1	2	3	4	5 = 3 * 4
econd Year) 3.97 0.901 3.57697 hird Year) 3.97 0.812 3.22364 purth Year) 3.97 0.731 2.90207 fth Year) 3.97 0.659 2.61623 xth Year) 3.97 0.6593 2.35421 eventh Year) 3.97 0.535 2.12395 ghth Year) 3.97 0.482 1.91354 nth Year) 3.97 0.434 1.72298 enth Year) 3.97 0.391 1.55227 leventh Year) 3.97 0.352 1.39744 welveth Year) 3.97 0.352 1.39744 welveth Year) 3.97 0.286 1.13542 corteenth Year) 3.97 0.286 1.13542 corteenth Year) 3.97 0.286 1.02426 linteenth Year) 3.97 0.209 0.82973 Seventeenth Year) 3.97 0.138 0.74636 lineteenth Year) 3.97 0.138 0.60741	1	1st Year (First Year)	3.97	1.000	3.97
aird Year) 3.97 0.812 3.22364 burth Year) 3.97 0.731 2.90207 fth Year) 3.97 0.659 2.61623 xth Year) 3.97 0.593 2.35421 eventh Year) 3.97 0.535 2.12395 ghth Year) 3.97 0.482 1.91354 nth Year) 3.97 0.434 1.72298 enth Year) 3.97 0.391 1.55227 enth Year) 3.97 0.352 1.39744 welveth Year) 3.97 0.352 1.39744 welveth Year) 3.97 0.286 1.13542 corteenth Year) 3.97 0.286 1.13542 corteenth Year) 3.97 0.223 0.92104 sixteenth Year) 3.97 0.209 0.82973 Seventeenth Year) 3.97 0.138 0.74636 lineteenth Year) 3.97 0.153 0.60741 wenty First Year) 3.97 0.138 0.54786	2	2nd Year (Second Year)	3.97	0.901	3.57697
Surth Year) 3.97 0.731 2.90207 fth Year) 3.97 0.659 2.61623 xth Year) 3.97 0.593 2.35421 eventh Year) 3.97 0.482 1.91354 ghth Year) 3.97 0.434 1.72298 ghth Year) 3.97 0.434 1.72298 enth Year) 3.97 0.391 1.55227 leventh Year) 3.97 0.391 1.55227 leventh Year) 3.97 0.317 1.25849 'mirteenth Year) 3.97 0.286 1.13542 'orteenth Year) 3.97 0.286 1.02426 'ifteenth Year) 3.97 0.286 1.02426 'ifteenth Year) 3.97 0.209 0.82973 Seventeenth Year) 3.97 0.188 0.74636 Lighteenth Year) 3.97 0.153 0.60741 'wenty First Year) 3.97 0.138 0.54786 'wenty First Year) 3.97 0.112 0.44464 <td>3</td> <td>3rd Year (Third Year)</td> <td>3.97</td> <td>0.812</td> <td>3.22364</td>	3	3rd Year (Third Year)	3.97	0.812	3.22364
fth Year) 3.97 0.659 2.61623 xth Year) 3.97 0.593 2.35421 eventh Year) 3.97 0.535 2.12395 ghth Year) 3.97 0.482 1.91354 nth Year) 3.97 0.434 1.72298 enth Year) 3.97 0.391 1.55227 leventh Year) 3.97 0.391 1.55227 leventh Year) 3.97 0.317 1.25849 'hirteenth Year) 3.97 0.286 1.13542 'orteenth Year) 3.97 0.286 1.02426 'ifteenth Year) 3.97 0.232 0.92104 'orteenth Year) 3.97 0.232 0.92104 'isiteenth Year) 3.97 0.188 0.74636 'ighteenth Year) 3.97 0.183 0.66741 'wenty First Year) 3.97 0.138 0.54786 'wenty First Year) 3.97 0.112 0.44464 'wenty First Year) 3.97 0.124 0.49228	4	4th Year (Fourth Year)	3.97	0.731	2.90207
xth Year) 3.97 0.593 2.35421 eventh Year) 3.97 0.535 2.12395 ghth Year) 3.97 0.482 1.91354 nth Year) 3.97 0.434 1.72298 eenth Year) 3.97 0.391 1.55227 eleventh Year) 3.97 0.352 1.39744 welveth Year) 3.97 0.317 1.25849 'hirteenth Year) 3.97 0.286 1.13542 'orteenth Year) 3.97 0.286 1.02426 'ifteenth Year) 3.97 0.2286 1.02426 'ifteenth Year) 3.97 0.232 0.92104 Sixtsenth Year) 3.97 0.209 0.82973 Seventeenth Year) 3.97 0.188 0.74636 'ighteenth Year) 3.97 0.188 0.60741 'wenty First Year) 3.97 0.112 0.44644 'wenty First Year) 3.97 0.112 0.44644 'wenty First Year) 3.97 0.112 0.4464	5	5th Year (Fifth Year)	3.97	0.659	2.61623
system 3.97 0.535 2.12395 ghth Year) 3.97 0.482 1.91354 nth Year) 3.97 0.434 1.72298 enth Year) 3.97 0.391 1.55227 Eleventh Year) 3.97 0.391 1.55227 Eleventh Year) 3.97 0.352 1.39744 welveth Year) 3.97 0.317 1.25849 Thirteenth Year) 3.97 0.286 1.13542 Corteenth Year) 3.97 0.286 1.13542 Sorteenth Year) 3.97 0.258 1.02426 Tifteenth Year) 3.97 0.209 0.82973 Seventeenth Year) 3.97 0.209 0.82973 Seventeenth Year) 3.97 0.170 0.6749 Uineteenth Year) 3.97 0.188 0.74636 Eighteenth Year) 3.97 0.138 0.54786 Wenty First Year) 3.97 0.138 0.54786 Wenty First Year) 3.97 0.101 0.44644	6	6th Year (Sixth Year)	3.97	0.593	2.35421
ghth Year) 3.97 0.482 1.91354 nth Year) 3.97 0.434 1.72298 renth Year) 3.97 0.391 1.55227 leventh Year) 3.97 0.352 1.39744 welveth Year) 3.97 0.352 1.39744 welveth Year) 3.97 0.352 1.39744 welveth Year) 3.97 0.317 1.25849 Thirteenth Year) 3.97 0.286 1.13542 Forteenth Year) 3.97 0.286 1.02426 Sitteenth Year) 3.97 0.232 0.92104 Sixteenth Year) 3.97 0.209 0.82973 Seventeenth Year) 3.97 0.188 0.74636 Eighteenth Year) 3.97 0.170 0.6749 Jineteenth Year) 3.97 0.188 0.54786 Wenty First Year) 3.97 0.132 0.44464 Wenty First Year) 3.97 0.101 0.40097 Iwenty Second Year) 3.97 0.091 0.36	7	7th Year (Seventh Year)	3.97	0.535	2.12395
nth Year) 3.97 0.434 1.72298 enth Year) 3.97 0.391 1.55227 Ileventh Year) 3.97 0.352 1.39744 welveth Year) 3.97 0.352 1.39744 welveth Year) 3.97 0.317 1.25849 'hirteenth Year) 3.97 0.286 1.13542 'orteenth Year) 3.97 0.258 1.02426 'ifteenth Year) 3.97 0.232 0.92104 Sixteenth Year) 3.97 0.209 0.82973 Seventeenth Year) 3.97 0.188 0.74636 lineteenth Year) 3.97 0.170 0.6749 lineteenth Year) 3.97 0.138 0.54786 'wenty First Year) 3.97 0.138 0.54786 'wenty Second Year) 3.97 0.101 0.40097 'wenty First Year) 3.97 0.011 0.40097 'wenty First Year) 3.97 0.0282 0.32554 'wenty First Year) 3.97 0.001	8	8th Year (Eighth Year)	3.97	0.482	1.91354
Tenth Year) 3.97 0.391 1.55227 Eleventh Year) 3.97 0.352 1.39744 Welveth Year) 3.97 0.317 1.25849 hirteenth Year) 3.97 0.286 1.13542 orteenth Year) 3.97 0.286 1.13542 orteenth Year) 3.97 0.232 0.92104 Sixteenth Year) 3.97 0.209 0.82973 Seventeenth Year) 3.97 0.188 0.74636 Eighteenth Year) 3.97 0.170 0.6749 Jineteenth Year) 3.97 0.153 0.60741 Wenty First Year) 3.97 0.138 0.54786 Wenty First Year) 3.97 0.112 0.44464 Wenty First Year) 3.97 0.112 0.44464 Wenty Third Year) 3.97 0.124 0.49228 Twenty Fourth Year) 3.97 0.101 0.40097 Wenty First Year) 3.97 0.101 0.40097 Wenty Fourth Year) 3.97 0.081	9	9th Year (Ninth Year)	3.97	0.434	1,72298
Ieventh Year) 3.97 0.352 1.39744 welveth Year) 3.97 0.317 1.25849 'hirteenth Year) 3.97 0.286 1.13542 'orteenth Year) 3.97 0.286 1.13542 'orteenth Year) 3.97 0.258 1.02426 'ifteenth Year) 3.97 0.232 0.92104 Sixteenth Year) 3.97 0.209 0.82973 Seventeenth Year) 3.97 0.188 0.74636 'ighteenth Year) 3.97 0.170 0.6749 lineteenth Year) 3.97 0.153 0.60741 'wenty First Year) 3.97 0.138 0.54786 'wenty First Year) 3.97 0.112 0.44464 'wenty Third Year) 3.97 0.101 0.40097 'wenty Fourth Year) 3.97 0.082 0.32554 'wenty Fifth Year) 3.97 0.082 0.32554 'wenty Fifth Year) 3.97 0.082 0.32554 'otal INR 3.7.123	10	10th Year (Tenth Year)	3.97	0.391	1.55227
welveth Year) 3.97 0.317 1.25849 'hirteenth Year) 3.97 0.286 1.13542 'orteenth Year) 3.97 0.258 1.02426 'ifteenth Year) 3.97 0.232 0.92104 Sixteenth Year) 3.97 0.209 0.82973 Seventeenth Year) 3.97 0.188 0.74636 Eighteenth Year) 3.97 0.170 0.6749 Nineteenth Year) 3.97 0.153 0.60741 'wentieth Year) 3.97 0.138 0.54786 'wenty First Year) 3.97 0.112 0.44464 'wenty First Year) 3.97 0.112 0.44464 'wenty Fourth Year) 3.97 0.101 0.40097 'wenty Fourth Year) 3.97 0.101 0.40097 'wenty Fifth Year) 3.97 0.091 0.36127 'wenty Fifth Year) 3.97 0.091 0.32554 'del Tariff for 25 Years (in INR / kWh) = X/9.351 INR 3.97 Three Rupees and Ninety Seven Paise 'epanc	11	11th Year (Eleventh Year)		0.352	1.39744
Thirteenth Year) 3.97 0.286 1.13542 Forteenth Year) 3.97 0.258 1.02426 Fifteenth Year) 3.97 0.232 0.92104 Sixteenth Year) 3.97 0.209 0.82973 Seventeenth Year) 3.97 0.188 0.74636 Seventeenth Year) 3.97 0.170 0.6749 Seventeenth Year) 3.97 0.153 0.60741 Seventeenth Year) 3.97 0.153 0.60741 Wentieth Year) 3.97 0.138 0.54786 Wenty First Year) 3.97 0.112 0.44464 Wenty Second Year) 3.97 0.112 0.44464 Wenty Third Year) 3.97 0.101 0.40097 Wenty Fourth Year) 3.97 0.001 0.36127 Wenty Fifth Year) 3.97 0.082 0.32554 Total INR 37.123 INR 37.123 ed Tariff for 25 Years (in INR / kWh) = X/9.351 INR 3.97 Unley Seven Paise Ninety Seven Paise <t< td=""><td>12</td><td>12th Year (Twelveth Year)</td><td>3.97</td><td>0.317</td><td>1.25849</td></t<>	12	12th Year (Twelveth Year)	3.97	0.317	1.25849
Forteenth Year) 3.97 0.258 1.02426 Sitteenth Year) 3.97 0.232 0.92104 Sixteenth Year) 3.97 0.209 0.82973 Seventeenth Year) 3.97 0.188 0.74636 Sighteenth Year) 3.97 0.170 0.6749 Seventeenth Year) 3.97 0.153 0.60741 Seventy First Year) 3.97 0.138 0.54786 Wenty First Year) 3.97 0.112 0.44464 Seventy First Year) 3.97 0.101 0.40097 Wenty Third Year) 3.97 0.011 0.40097 Wenty Fourth Year) 3.97 0.011 0.40097 Wenty Fifth Year) 3.97 0.091 0.36127 Wenty Fifth Year) 3.97 0.082 0.32554 Total INR 37.123 INR 3.97 Three Rupees and Ninety Seven Paise epancy in the Main Bid (Excel File) and Electronic Form, the Price mentioned in the Excel be noted that the applicable incentive amount shall be released directly to successful bid nease (INR) only	13	13th Year (Thirteenth Year)	3.97	0.286	1.13542
Sifteenth Year) 3.97 0.232 0.92104 Sixteenth Year) 3.97 0.209 0.82973 Seventeenth Year) 3.97 0.188 0.74636 Sighteenth Year) 3.97 0.170 0.6749 Sinteenth Year) 3.97 0.153 0.60741 Seventeenth Year) 3.97 0.153 0.60741 Seventy First Year) 3.97 0.138 0.54786 Wenty First Year) 3.97 0.112 0.44464 Wenty Third Year) 3.97 0.101 0.40097 Wenty Fourth Year) 3.97 0.001 0.40097 Wenty Fifth Year) 3.97 0.001 0.40097 Wenty Fifth Year) 3.97 0.002 0.32554 Total INR 37.123 INR 3.97 ed Tariff for 25 Years (in INR / kWh) = X/9.351 INR 3.97 Ninety Seven Paise Three Rupees and Ninety Seven Paise epancy in the Main Bid (Excel File) and Electronic Form, the Price mentioned in the Excel be noted that the applicable incentive amount shall be released directly to successful bid neas (INP) only	14	14th Year (Forteenth Year)	3.97	0.258	1.02426
Sixteenth Year) 3.97 0.209 0.82973 Seventeenth Year) 3.97 0.188 0.74636 Sighteenth Year) 3.97 0.170 0.6749 Nineteenth Year) 3.97 0.153 0.60741 Wentieth Year) 3.97 0.138 0.54786 Wenty First Year) 3.97 0.124 0.49228 Twenty Second Year) 3.97 0.112 0.44464 Wenty Third Year) 3.97 0.101 0.40097 Wenty Fourth Year) 3.97 0.091 0.36127 Wenty Fifth Year) 3.97 0.082 0.32554 Total INR 37.123 INR 3.97 ed Tariff for 25 Years (in INR / kWh) = X/9.351 INR 3.97 Levellized Tariff for 25 Years in Words Three Rupees and Ninety Seven Paisc epancy in the Main Bid (Excel File) and Electronic Form, the Price mentioned in the Excel be noted that the applicable incentive amount shall be released directly to successful bid neas (INP) only	15	15th Year (Fifteenth Year)	3.97	0.232	0.92104
Seventcenth Year) 3.97 0.188 0.74636 Sighteenth Year) 3.97 0.170 0.6749 Nineteenth Year) 3.97 0.153 0.60741 Wentieth Year) 3.97 0.138 0.54786 Wenty First Year) 3.97 0.124 0.49228 Twenty Second Year) 3.97 0.112 0.44464 Wenty Third Year) 3.97 0.101 0.40097 Wenty Fourth Year) 3.97 0.091 0.36127 Wenty Fifth Year) 3.97 0.091 0.36127 Wenty Fifth Year) 3.97 0.082 0.32554 Total INR 37.123 INR 3.97 Three Rupees and Ninety Seven Paise evellized Tariff for 25 Years in Words Three Rupees and Ninety Seven Paise Three Rupees and Ninety Seven Paise epancy in the Main Bid (Excel File) and Electronic Form, the Price mentioned in the Excel be noted that the applicable incentive amount shall be released directly to successful bid past (INP) only	16	16th Year (Sixteenth Year)	3.97	0.209	0.82973
Sighteenth Year) 3.97 0.170 0.6749 lineteenth Year) 3.97 0.153 0.60741 wentieth Year) 3.97 0.138 0.54786 wenty First Year) 3.97 0.124 0.49228 Twenty Second Year) 3.97 0.112 0.44464 [wenty Third Year) 3.97 0.101 0.40097 [wenty Fourth Year) 3.97 0.091 0.36127 [wenty Fifth Year) 3.97 0.082 0.32554 [wenty Fifth Year) 3.97 0.082 0.32554 Total INR 37.123 INR 3.97 Three Rupees and Ninety Seven Paise epancy in the Main Bid (Excel File) and Electronic Form, the Price mentioned in the Excel be noted that the applicable incentive amount shall be released directly to successful bid nease (INP) only	17	17th Year (Seventeenth Year)	3.97	0.188	0.74636
Vineteenth Year) 3.97 0.153 0.60741 Wentieth Year) 3.97 0.138 0.54786 Wenty First Year) 3.97 0.124 0.49228 Twenty Second Year) 3.97 0.112 0.44464 Wenty Third Year) 3.97 0.101 0.40097 Wenty Fourth Year) 3.97 0.091 0.36127 Wenty Fifth Year) 3.97 0.082 0.32554 Twenty Fifth Year) 3.97 0.082 0.32554 Total INR 37.123 INR 3.97 Three Rupees and Ninety Seven Paise evallized Tariff for 25 Years in Words Three Rupees and Ninety Seven Paise Ninety Seven Paise be noted that the applicable incentive amount shall be released directly to successful bid nease (INP) only Seven Paise Seven Paise	18	18th Year (Eighteenth Year)	3.97	0.170	0.6749
Wentieth Year) 3.97 0.138 0.54786 Wenty First Year) 3.97 0.124 0.49228 Twenty Second Year) 3.97 0.112 0.44464 (wenty Third Year) 3.97 0.101 0.40097 [wenty Fourth Year) 3.97 0.001 0.40097 [wenty Fourth Year) 3.97 0.001 0.40097 [wenty Fifth Year) 3.97 0.082 0.32554 [wenty Fifth Year) 3.97 0.082 0.32554 [wenty Fifth Year] 3.97 0.082 0.32554 [wenty Fifth for 25 Years in Words [Ninety Seven Paise] Three Rupees and Ninety Seven Paise] epancy in the Main Bid (Excel File) and Electronic Form, the Price mentioned in the Excel be noted that the applicable incentive amount shall be released directly to successful bid neas (INP) only.	19	19th Year (Nineteenth Year)	3.97	0.153	0.60741
Wenty First Year) 3.97 0.124 0.49228 Twenty Second Year) 3.97 0.112 0.44464 Iwenty Third Year) 3.97 0.101 0.40097 Iwenty Fourth Year) 3.97 0.091 0.36127 Iwenty Fifth Year) 3.97 0.082 0.32554 Total INR 37.123 INR 3.97 INR 3.97 ed Tariff for 25 Years (in INR / kWh) = X/9.351 INR 3.97 Three Rupees and Ninety Seven Paise epancy in the Main Bid (Excel File) and Electronic Form, the Price mentioned in the Excel be noted that the applicable incentive amount shall be released directly to successful bid past (INP) only Seven Paise	20	20th Year (Twentieth Year)	3.97	0.138	0.54786
Twenty Second Year) 3.97 0.112 0.44464 Twenty Third Year) 3.97 0.101 0.40097 Twenty Fourth Year) 3.97 0.091 0.36127 Twenty Fifth Year) 3.97 0.082 0.32554 Total INR 37.123 ed Tariff for 25 Years (in INR / kWh) = X/9.351 INR 3.97 Levellized Tariff for 25 Years in Words Three Rupees and Ninety Seven Paise epancy in the Main Bid (Excel File) and Electronic Form, the Price mentioned in the Excel be noted that the applicable incentive amount shall be released directly to successful bid pase (INP) only			3.97	0.124	0.49228
Image: Wenty Third Year) 3.97 0.101 0.40097 Image: Wenty Fourth Year) 3.97 0.091 0.36127 Image: Wenty Fifth Year) 3.97 0.082 0.32554 Image: Wenty Fifth Year) 3.97 0.082 0.32554 Image: Total INR 37.123 ed Tariff for 25 Years (in INR / kWh) = X/9.351 INR 3.97 Levellized Tariff for 25 Years in Words Three Rupees and Ninety Seven Paise epancy in the Main Bid (Excel File) and Electronic Form, the Price mentioned in the Excel be noted that the applicable incentive amount shall be released directly to successful bid neas (INR) only.			3.97	0.112	0.44464
Image: New Second Se			3.97	0.101	0.40097
wenty Fifth Year) 3.97 0.082 0.32554 Total INR 37.123 ed Tariff for 25 Years (in INR / kWh) = X/9.351 INR 3.97 _evellized Tariff for 25 Years in Words Three Rupees and Ninety Seven Paise epancy in the Main Bid (Excel File) and Electronic Form, the Price mentioned in the Excel be noted that the applicable incentive amount shall be released directly to successful bid paes (INP) only.			3.97	0.091	
Total INR 37.123 ed Tariff for 25 Years (in INR / kWh) = X/9.351 INR 3.97 _evellized Tariff for 25 Years in Words Three Rupees and Ninety Seven Paise epancy in the Main Bid (Excel File) and Electronic Form, the Price mentioned in the Excel be noted that the applicable incentive amount shall be released directly to successful bid neas (INP) only					
_evellized Tariff for 25 Years in Words Three Rupees and Ninety Seven Paise epancy in the Main Bid (Excel File) and Electronic Form, the Price mentioned in the Excel be noted that the applicable incentive amount shall be released directly to successful bld pages (INP) only				INR 37.1	23
_evellized Tariff for 25 Years in Words Three Rupees and Ninety Seven Paise epancy in the Main Bid (Excel File) and Electronic Form, the Price mentioned in the Excel be noted that the applicable incentive amount shall be released directly to successful bld pages (INP) only			R / kWh) = X/9.351		INR 3.97
be noted that the applicable incentive amount shall be released directly to successful bld		Levellized Tariff for 25 Year	s in Words		Ninety Seven Paiso
peration for first year shall be calculated w.e.f. date of commercial operation to 31	21 22 23 24 25 Note-1: - will prev / develo Note - 2:	21st Year (Twenty First Year) 22nd Year (Twenty Second Year) 23rd Year (Twenty Third Year) 24th Year (Twenty Fourth Year) 25th Year (Twenty Fifth Year) 25th Year (Twenty Fifth Year) Total Levellized Tariff for 25 Years (in IN Levellized Tariff for 25 Years (in IN Levellized Tariff for 25 Years) In case of discrepancy in the Main Bid (Excel File ail, Also It may be noted that the applicable incer- parts Indian Runner (INR) only	3.97 3.97 3.97 3.97 3.97 3.97 3.97 R / kWh) = X/9.351 rs in Words and Electronic Form, ntive amount shall be re	0.124 0.112 0.101 0.091 0.082 INR 37.1 the Price ment	0.49 0.44 0.40 0.36 0.32 23 Three Rupper Ninety Seven tioned in the
		 The year of operation from second year upto to f immediately succeeding financial year. 	venty intil year shall b	c calculated w	iem 15t April to 51
peration from second year upto twenty fifth year shall be calculated w.e.f. 1st April to 31	warch o	The levellized tariff shall be calculated up to three			

Tariff stream quoted by the bidder shall be levellized with a discounting rate of 11% only. b.

Maximum allowable Levellized Tariff for this part is as per clause no. 2 of Amendment-V. c.

Bids not in confirmity with above provisions will be rejected d.

11.05.2017 Date

Place New Delhi

Address 8, LSC, Madangir, PushpBhavan, New De hi-110062

Name

Designation

Ganna Gaurang Sethi

Sutri

ROOF

New Delhi

Authorised Signatory

Implementation of 1000MW Grid Connected Roof Top Solar PV System Scheme for Government Buildings in Different States/ Union Territory of India Under CAPEX/ RESCO Model (500MW Capacity PHASE - I)

PRICE BID for RESCO (For Projects Ranging From 2 MWp to 50 MWp) - MAIN BID

SI. No.	Year of Operation	Tariff (INR / kWh)	Discount Factor @ 11%	Discounted Tariff (INR / kWh)
1	2	3	4	5 = 3 * 4
1	1st Year (First Year)	3.62	1.000	3.62
2	2nd Year (Second Year)	3.62	0.901	3.26162
3	3rd Year (Third Year)	3.62	0.812	2.93944
4	4th Year (Fourth Year)	3.62	0.731	2.64622
5	5th Year (Fifth Year)	3.62	0.659	2.38558
6	6th Year (Sixth Year)	3.62	0.593	2.14666
7	7th Year (Seventh Year)	3.62	0.535	1.9367
8	8th Year (Eighth Year)	3.62	0.482	1.74484
9	9th Year (Ninth Year)	3.62	0.434	1.57108
10	10th Year (Tenth Year)	3.62	0.391	1.41542
11	11th Year (Eleventh Year)	3.62	0.352	1.27424
12	12th Year (Twelveth Year)	3.62	0.317	1.14754
13	13th Year (Thirteenth Year)	3.62	0.286	1.03532
14	14th Year (Forteenth Year)	3.62	0.258	0.93396
15	15th Year (Fifteenth Year)	3.62	0.232	0.83984
16	16th Year (Sixteenth Year)	3.62	0.209	0.75658
17	17th Year (Seventeenth Year)	3.62	0.188	0.68056
18	18th Year (Eighteenth Year)	3.62	0.170	0.6154
19	19th Year (Nineteenth Year)	3.62	0.153	0.55386
20	20th Year (Twentieth Year)	3.62	0.138	0.49956
21	21st Year (Twenty First Year)	3.62	0.124	0.44888
22	22nd Year (Twenty Second Year)	3.62	0.112	0.40544
23	23rd Year (Twenty Third Year)	3.62	0.101	0.36562
24	24th Year (Twenty Fourth Year)	3.62	0.091	0.32942
25	25th Year (Twenty Fifth Year)	3.62	0.082	0.29684
	Total		INR 33.851	
	Levellized Tariff for 25 Years (in INR / kWh) = X/9.35	51	INR 3.62
	Levellized Tariff for 25	Three Rupees sixty two paisa		

Maharastra-02MWp

<u>Note-1</u>: - In case of discrepancy in the Main Bid (Excel File) and Electronic Form, the Price mentioned in the Excel File will prevail. Also It may be noted that the applicable incentive amount shall be released directly to successful bidder / developer in Indian Rupees (INR) only.

<u>Note - 2</u>: - The year of operation for first year shall be calculated w.e.f. date of commercial operation to 31st March of immediately succeeding financial year.

<u>Note - 3</u>: - The year of operation from second year upto twenty fifth year shall be calculated w.e.f. 1st April to 31st March of immediately succeeding financial year.

- The levellized tariff shall be calculated up to three decimal places. However in case of a tie it may be expanded to break the tie.
- b. Tariff stream quoted by the bidder shall be levellized with a discounting rate of 11% only.

c. Maximum allowable Levellized Tariff for this part is as per clause no. 2 of Amendment-V.

d. Bids not in confirmity with above provisions will be rejected

Date	11.05.2017	Signature of Authoriz	zed Signatory
Place	Hyderabad	Printed Name	M.Srinivasa Reddy
Address	Fourth Partner House, Plot No.N46, H.No 4-9-10 HMT Nagar, Nacharam Hyderabad, Telangana, 500076	Designation	Head-Operations
		Seal	

Vderabad

NIT for Implementation of 1000 MW Grid Connected Roof Top Solar PV System Scheme for Sovernment Buildings in Different States / Union Territory of India Under CAPEX / RESCO Model (500 MW phase-I)

PRICE BID for RESCO (For Projects Ranging From 2 MWp to 50 MWp)

(To be Submitted Online in a Separate Envelope for General Category for Different States (Separate for each States / Union Territories / Islands) and Special Category States (separate for each State) of India Meghalaya super scribing name of the State / Special Category State)

SI. No.	Year of Operatio	n	Tariff (INR / kWh)	Discount Factor @ 11%	Discounted Tariff (INR kWh)
1	2		3	4	5 = 3 * 4
1	1st Year (First Year)		2.84	1.000	2.84
2	2nd Year (Second Year)		2.84	0.901	2 55884
3	3rd Year (Third Year)		2.84	0.812	2 30608
4	4th Year (Fourth Year)		2.84	0.731	2 07604
5	5th Year (Fifth Year)		2.84	0.659	1 87156
6	6th Year (Sixth Year)		2.84	0.593	1 68412
7	7th Year (Seventh Year)		2.84	0.535	1.5194
8	8th Year (Eighth Year)		2.84	0.482	1 36888
9	9th Year (Ninth Year)		2.84	0.434	1 23256
10	10th Year (Tenth Year)	Service and	2.84	0.391	1.11044
11	11th Year (Eleventh Year)		2.84	0.352	0.99968
12	12th Year (Twelveth Year)		2.84	0.317	0.90028
13	13th Year (Thirteenth Year)	1	2.84	0.286	0.81224
14	14th Year (Forteenth Year)		2.84	0.258	0.73272
15			2.84	-	the second se
	15th Year (Fifteenth Year)			0.232	0.55888
16	16th Year (Sixteenth Year)		2.84	0.209	0.59356
17	17th Year (Seventeenth Year)		2.84	0.188	0.53392
18	18th Year (Eighteenth Year)		2.84	0.170	C 4828
19	19th Year (Nineteenth Year)		2.84	0.153	0.43452
20	20th Year (Twentieth Year)		2.84	0.138	0.39192
21	21st Year (Twenty First Year)		2.84	0.124	0.35216
22	22nd Year (Twenty Second Y	ear)	2.84	0.112	0.31808
23	23rd Year (Twenty Third Year)	2.84	0.101	0.28684
24	24th Year (Twenty Fourth Yea	ur)	2.84	0.091	0.25844
25	25th Year (Twenty Fifth Year)		2.84	0.082	0.23288
	Total			INR 26.557	terror on the set plate over the set
					INR 2.8
	Levellized Tariff for Levellized Ta - In case of discrepancy in t	riff for 25 yes	ars in Words (Excel File) and Elect		Two Ruppes Eighty Four Paise e Price mantioned in
ne Exa irectly	Levellized Ta - In case of discrepancy in t el File will prevail. Also It ma to successful bidder / deve	riff for 25 yes he price bid by be noted loper in Indi	ars in Words (Excel File) and Elect that the applicable i an Rupees (INR) only	ncentive amou y.	Two Ruppes Eighty Four Paise e Price mentioned in nt shall be released
ie Exc rectly ote - 2 Lst Ma ote - 3 pril to	Levellized Ta - In case of discrepancy in t el File will prevail. Also It ma to successful bidder / deve 2: - The year of operation for arch of immediately succeed 3: - The year of operation fro 31st March of immediately The levellized tariff shall by	riff for 25 yes he price bid hy be noted loper in Indi first year sl ling financia im second y succeeding e calculated	ars in Words (Excel File) and Elect that the applicable i an Rupees (INR) only hall be calculated w. I year. ear upto twenty fifth financial year.	ncentive amou y. e.f. date of cor h year shall be	Two Ruppes Eighty Four Paise e Price mentioned in nt shall be released nmercial operation to calculated w.e.f. 1st
ie Exc rectly ote - 2 Lst Ma ote - 3 pril to	Levellized Ta - In case of discrepancy in t el File will prevail. Also It ma to successful bidder / devel 2: - The year of operation for arch of immediately succeed 3: - The year of operation fro 31st March of immediately The levellized tariff shall be may be expanded to break	he price bid he price bid loper in Indi first year sl ling financia om second y succeeding e calculated the tie.	ars in Words (Excel File) and Elect that the applicable i an Rupees (INR) only hall be calculated w. I year. ear upto twenty fifth financial year. up to three decimal	ncentive amou y. e.f. date of cor h year shall be places. Howev	Two Ruppes Eighty Four Paise e Price mentioned in nt shall be released nmercial operation to calculated w.e.f. 1st er in case of a tie it
ie Exc rectly ote - 2 Lst Ma ote - 3 pril to	Levellized Ta - In case of discrepancy in t el File will prevail. Also It ma to successful bidder / deve 2: - The year of operation for arch of immediately succeed 3: - The year of operation from 31st March of immediately The levellized tariff shall be may be expanded to break . Tariff stream quoted by th	he price bid by be noted loper in Indi first year sl ling financia m second y succeeding e calculated the tie. e bidder sha	ars in Words (Excel File) and Elect that the applicable i an Rupees (INR) only hall be calculated w. I year. ear upto twenty fifth financial year. up to three decimal II be levellized with	ncentive amou y. e.f. date of cor h year shall be places. Howev a discounting r	Two Ruppes Eighty Four Paise e Price mentioned in nt shall be released nmercial operation to calculated w.e.f. 1st er in case of a tie it ate of 11% only.
ne Exp irectly ote - 2 Lst M a ote - 3 pril to a. b. c.	Levellized Ta - In case of discrepancy in t el File will prevail. Also It ma to successful bidder / deve 2: - The year of operation for arch of immediately succeed 3: - The year of operation fro 31st March of immediately The levellized tariff shall bu may be expanded to break . Tariff stream quoted by th Maximum allowable Levell document.	riff for 25 yes he price bid hy be noted loper in Indi first year sl ling financia m second y succeeding e calculated the tie. e bidder sha ized Tariff fo	ars in Words (Excel File) and Elect that the applicable i an Rupees (INR) only hall be calculated w. I year. ear upto twenty fiftl financial year. up to three decimal II be levellized with or this part is as per	ncentive amou y. e.f. date of cor h year shall be places. Howev a discounting r clause no. 2.1.4	Two Ruppes Eighty Four Paise e Price mentioned in nt shall be released nmercial operation to calculated w.e.f. 1st er in case of a tie it ate of 11% only. 4, Part-II of RfS
ie Exp rectly ote - 2 Lst M a ote - 3 pril to a. b. c.	Levellized Ta - In case of discrepancy in t el File will prevail. Also It ma to successful bidder / deve 2: - The year of operation for arch of immediately succeed 3: - The year of operation fro 31st March of immediately The levellized tariff shall bu may be expanded to break . Tariff stream quoted by th Maximum allowable Level	riff for 25 yes he price bid hy be noted loper in Indi first year sl ling financia m second y succeeding e calculated the tie. e bidder sha ized Tariff fo	ars in Words (Excel File) and Elect that the applicable i an Rupees (INR) only hall be calculated w. I year. ear upto twenty fiftl financial year. up to three decimal II be levellized with or this part is as per	ncentive amou y. e.f. date of cor h year shall be places. Howev a discounting r clause no. 2.1.4	Two Ruppes Eighty Four Paise e Price mentioned in nt shall be released nmercial operation to calculated w.e.f. 1st er in case of a tie it ate of 11% only. 4, Part-II of RfS
ne Exp irectly ote - 2 Lst M a ote - 3 pril to a. b. c.	Levellized Ta - In case of discrepancy in t el File will prevail. Also It ma to successful bidder / deve 2: - The year of operation for arch of immediately succeed 3: - The year of operation fro 31st March of immediately The levellized tariff shall by may be expanded to break . Tariff stream quoted by th Maximum allowable Levell document. Bids not in conformity with	riff for 25 yes he price bid hy be noted loper in Indi first year sl ling financia m second y succeeding e calculated the tie. e bidder sha ized Tariff fo	ars in Words (Excel File) and Elect that the applicable i an Rupees (INR) only hall be calculated w. I year. ear upto twenty fiftl financial year. up to three decimal II be levellized with or this part is as per	ncentive amou y. e.f. date of cor h year shall be places. Howev a discounting r clause no. 2.1.4	Two Ruppes Eighty Four Paise e Price mentioned in nt shall be released nmercial operation to calculated w.e.f. 1st er in case of a tie it ate of 11% only. 4, Part-II of RfS
ne Expo rectly <u>ote - 2</u> 1st M a ote - 3 pril to a. b b c. d.	Levellized Ta - In case of discrepancy in t el File will prevail. Also It ma to successful bidder / deve 2: - The year of operation for arch of immediately succeed 3: - The year of operation fro 31st March of immediately The levellized tariff shall bu may be expanded to break . Tariff stream quoted by th Maximum allowable Levell document.	riff for 25 yes he price bid ty be noted loper in Indi r first year sh ling financia om second ye succeeding e calculated the tie. e bidder sha ized Tariff fo n above prov	ars in Words (Excel File) and Elect that the applicable i an Rupees (INR) only hall be calculated w. I year. ear upto twenty fiftl financial year. up to three decimal II be levellized with or this part is as per	ncentive amou y. e.f. date of cor h year shall be places. Howev a discounting r clause no. 2.1.4 ed	Two Ruppes Eighty Four Paise e Price mentioned in nt shall be released nmercial operation to calculated w.e.f. 1st er in case of a tie it ate of 11% only. 4, Part-II of RfS
ne Exp irectly ote - 2 Lst M a ote - 3 pril to a. b. c.	Levellized Ta - In case of discrepancy in t el File will prevail. Also It ma to successful bidder / deve 2: - The year of operation for arch of immediately succeed 3: - The year of operation fro 31st March of immediately The levellized tariff shall by may be expanded to break . Tariff stream quoted by th Maximum allowable Levell document. Bids not in conformity with	riff for 25 yes he price bid ty be noted loper in Indi r first year sh ling financia om second ye succeeding e calculated the tie. e bidder sha ized Tariff fo n above prov	ars in Words (Excel File) and Elect that the applicable i an Rupees (INR) only hall be calculated w. I year. ear upto twenty fifth financial year. up to three decimal II be levellized with or this part is as per- visions will be rejecto	ncentive amou y. e.f. date of cor h year shall be places. Howev a discounting r clause no. 2.1.4 ed	Two Ruppes Eighty Four Paise e Price mentioned in nt shall be released nmercial operation to calculated w.e.f. 1st er in case of a tie it ate of 11% only. 4, Part-II of RfS
e Exported and a construction of the second	Levellized Ta - In case of discrepancy in t el File will prevail. Also It may to successful bidder / devel 2: - The year of operation for arch of immediately succeed 3: - The year of operation from 31st March of immediately The levellized tariff shall be may be expanded to break . Tariff stream quoted by th Maximum allowable Levell document. Bids not in conformity with 2.165/2017	riff for 25 yes he price bid ty be noted ioper in Indi first year sh ling financia or second yes succeeding e calculated the tie. e bidder sha ized Tariff fo n above prov	ars in Words (Excel File) and Elect that the applicable i an Rupees (INR) only nall be calculated w. I year. ear upto twenty fiftl financial year. up to three decimal II be levellized with or this part is as per visions will be rejector	ncentive amou y. e.f. date of cor h year shall be places. Howev a discounting r clause no. 2.1.4 ed ed zed Signatory	Two Ruppes Eighty Four Paise e Price mentioned in nt shall be released nmercial operation to calculated w.e.f. 1st er in case of a tie it ate of 11% only. 4, Part-II of RfS



Implementation of 1000MW Grid Connected Roof Top Solar PV System Scheme for Government Buildings in Different States/ Union Territory of India Under CAPEX/ RESCO Model (500MW Capacity PHASE - I)

PRICE BID for RESCO (For Projects Ranging From 2 MWp to 50 MWp) - MAIN BID

Madhya Pradesh_2MW Discount Discounted Tariff (INR / Tariff (INR / KWh) SI. No. Year of Operation Factor @ 11% ki/ih) 5=3*4 4 3 1 1.000 3.14 1st Year (First Year) 3.14 1 2.82914 0.901 3.14 2nd Year (Second Year) 2 3.14 0.812 2 6494R 3rd Year (Third Year) 3 2.29534 0.731 4th Year (Fourth Year) 3.14 4 5th Year (Fifth Year) 0.659 2.06926 3.14 5 0.693 1.86202 6th Year (Sixth Year) 3.14 6 7th Year (Seventh Year) 3.14 0.535 1 6799 7 1.61348 3.14 0.482 8 8th Year (Eighth Year) 1.36276 0.434 3.14 9 9th Year (Ninth Year) 3.14 0.391 1.22774 10th Year (Tenth Year) 10 6.352 1.10528 Ħ 1th Year (Eleventh Year 5.16 12th Year (Twelveth Year) 3.14 0.317 0.99538 12 0.89804 3.14 0.286 13 13th Year (Thirteenth Year) 0.81012 14th Year (Forteenth Year 0.258 3.14 14 0.72848 3.14 0.232 15 15th Year (Fifteenth Year) 0.65626 3.14 0.209 16th Year (Sixteenth Year) 16 0.59032 3.14 0.188 17th Year (Seventeenth Year) 17 0.5338 0.170 3.14 18 18th Year (Eighteenth Year) 3,14 0.163 0.48042 19th Year (Ninsteanth Year) 19 0.43332 3.14 0.138 20 20th Year (Twentieth Year) 0.38936 0.124 3.14 21 21st Year (Twenty First Year 0.35168 22nd Year (Twenty Second Year) 3.14 0.112 22 0.31714 0.101 23rd Year (Twenty Third Year) 3 14 23 3.14 0.091 0.28574 24th Year (Twenty Fourth Year) 24 0.082 0.25748 3.14 25 25th Year (Twenty Fifth Year) INR 29.362 Total INR 3.14 Levelized Tariff for 25 Years (in INR / kWh) = X/9.351 Three Rupees. Levellized Tariff for 25 Years in Words Fourteen Paise Note-1: - In case of discrepancy in the Main Bid (Excel File) and Electronic Form, the Price mentioned in the Excel File will prevail. Also it may be noted that the applicable incentive amount shall be released directly to successful bidder / developer in Indian Rupees (INR) only.

Note - 2: - The year of operation for first year shall be calculated w.e.f. date of commercial operation to 31st March of immediately succeeding financial year. Note - 3: - The year of operation from second year upto twenty fifth year shall be calculated w.e.f. 1st

April to 31st March of immediately succeeding financial year.

The levellized tariff shall be calculated up to three decimal places. However in case of a tie it а. may be expanded to break the tie.

Tariff stream quoted by the bidder shall be levellized with a discounting rate of 11% only. b.

Maximum allowable Levellized Tariff for this part is as per clause no. 2 of Amendment-V. c.

Bids not in confirmity with above provisions will be rejected d.

an

11.05.2017 Date

Signature of Authorized Signatory

Place Delhi Printed Name

Address C-138, Naraina Industrial Area, Phase-1, New Delhi - 110028

Designation

Managing Director

Arun Kumar Khanna





NIT for Implementation of 1000 MW Grid Connected Roof Top Solar PV System Scheme for Government Buildings in Different States / Union Territory of India Under CAPEX / RESCO Model (500 MW phase-I)

PRICE BID for RESCO (For Projects Ranging From 2 MWp to 50 MWp)

(To be Submitted Online in a Separate Envelope for General Category for Different States (Separate for each States / Union Territories / Islands) and Special Category States (separate for each State) of India Nagaland super scribing name of the State / Special Category State)

SI. No	Year of Operation	Tariff (INR / kWh)	Discount Factor @ 11%	Discounted Tariff (INR kWh)
1	2	3	4	5 = 3 * 4
1	1st Year (First Year)	2.96	1.000	2.96
2	2nd Year (Second Year)	2.96	0.901	2.66696
3	3rd Year (Third Year)	2.96	0.812	2.40352
4	4th Year (Fourth Year)	2.96	0.731	2.16376
5	5th Year (Fifth Year)	2.96	0.659	1.95064
6	6th Year (Sixth Year)	2.96	0.593	1.75528
7	7th Year (Seventh Year)	2.96	0.535	1.5836
8	8th Year (Eighth Year)	2.96	0.482	1.42572
9	9th Year (Ninth Year)	2.96	0.434	1.28464
10	10th Year (Tenth Year)	2.96	0.391	1.15736
11	11th Year (Eleventh Year)	2.96	0.352	1.04192
12	12th Year (Twelveth Year)	2.96	0.317	0.93832
13	13th Year (Thirteenth Year)	2.96	0.286	0.84656
14	14th Year (Forteenth Year)	2.96	0.258	0.76368
15	15th Year (Fifteenth Year)	2.96	0.232	0.68672
16	16th Year (Sixteenth Year)	2.96	0.209	0.61864
17	17th Year (Seventeenth Year)	2.96	0.188	0.55648
18	18th Year (Eighteenth Year)	2.96	0.170	0.5032
19	19th Year (Nineteenth Year)	2.96	0.153	0.45288
20	20th Year (Twentieth Year)	2.96	0.138	0.408 48
21	21st Year (Twenty First Year)	2.96	0.124	0.36704
22	22nd Year (Twenty Second Year)	2.96	0.112	0.33152
23	23rd Year (Twenty Third Year)	2.96	0.101	0.29896
24	24th Year (Twenty Fourth Year)	2.96	0.091	0.26936
25	25th Year (Twenty Fifth Year)	2.96	0.082	0.24272
	Total		INR 27.679	
ote-1:	- In case of discrepancy in the price t	d (Event File) and Flore		
ote - 2 Ist Ma ote - 3	 File will prevail. Also It may be notited successful bidder / developer in transmission for first year of operation for first year of ommediately succeeding finance. The year of operation from second stat March of immediately succeeding The levellized tariff shall be calculated may be expanded to break the tie. 	ndian Rupees (INR) only. r shall be calculated w.e. cial year. I year upto twenty fifth ng financial year.	f. date of com year shall be c	mercial operation to alculated w.e.f. 1st
b.	Tariff stream quoted by the bidder s	hall be levellized with a	discounting ra	te of 11% only
	Maximum allowable Levellized Tarif document.			
d.	Bids not in conformity with above p	rovisions will be rejected	> (Part-II of RIS
		17 Signature of Authorized	d Signatory	Contraction of
	Gurgaon	Printed Name K	aran Sharma	×
	#408,4th Floor,Emaar MGF, Plam Spring Plaza,Golf Course Road.			

Address Plam Spring Plaza, Golf Course Road, Sector-53, Gurgaon-122002

Designation Director



Implementation of 1000MW Grid Connected Roof Top Solar PV System Scheme for Government Buildings in Different States/ Union Territory of India Under CAPEX/ RESCO Model (500MW Capacity PHASE - I)

PRICE BID for RESCO (For Projects Ranging From 2 MWp to 50 MWp) - MAIN BID

Odisha_2MW

SI. No.	Year of Operation	Tariff (INR / KWh)	Discount Factor @ 11%	Discounted Tariff (INR kWh)
1	2	3	4	5=3*4
1	1st Year (First Year)	3.62	1.000	3.62
2	2nd Year (Second Year)	3.62	0.901	3.26162
3	3rd Year (Third Year)	3.62	0.812	2.93944
4	4th Year (Fourth Year)	3.62	0.731	2.64622
5	5th Year (Fifth Year)	3.62	0.659	2.38558
6	6th Year (Sixth Year)	3.62	0.593	2,14566
7	7th Year (Seventh Year)	3.62	0.535	1.9387
8	5th Year (Eighth Year)	3.82	0.482	1.74484
9	9th Year (Ninth Year)	3.62	0.434	1.57108
10	10th Year (Tenth Year)	3.62	0.391	1.41542
11	11th Year (Eleventh Year)	3.62	0.352	1:27424
12	12th Year (Twelveth Year)	3.62	0.317	1.14754
13	13th Year (Thirteenth Year)	3.62	0.286	1.03532
14	14th Year (Forteenth Year)	3.62	0.258	0.93396
15	15th Year (Fifteenth Year)	3.62	0.232	0.83984
16	16th Year (Sixteenth Year)	3.62	0.209	0.75658
17	17th Year (Seventeenth Year)	3.62	0.188	0.68058
18	18th Year (Eighteenth Year)	3.62	0,170	0.6154
19	19th Year (Nineteenth Year)	3.62	0.153	0.55368
20	20th Year (Twentieth Year)	3.62	0.138	0.49956
21	21st Year (Twenty First Year)	3.62	0.124	0.44888
22	22nd Year (Twenty Second Year)	3.62	0.112	0.40544
23	23rd Year (Twenty Third Year)	3.62	0.101	0.36562
24	24th Year (Twenty Fourth Year)	3.62	0.091	0.32942
26	25th Year (Twenty Fifth Year)	3.62	0.082	0.29684
1	Total		INR 33.861	
	Levelized Tariff for 25 Years (in INR / kWh) = X/9.351		INR 3.6
	Levellized Tariff for 25			Three Rupees, Sixety Two Paise
the Ex	In case of discrepancy in the Main cel File will prevail. Also it may be n directly to successful bidder / deve	oted that the applicabl	e incentive an	

<u>Note - 2</u>: - The year of operation for first year shall be calculated w.e.f. date of commercial operation to 31st March of immediately succeeding financial year.

<u>Note - 3</u>: - The year of operation from second year upto twenty fifth year shall be calculated w.e.f. 1st April to 31st March of immediately succeeding financial year.

a. The levellized tariff shall be calculated up to three decimal places. However in case of a tie it may be expanded to break the tie.

b. Tariff stream quoted by the bidder shall be levellized with a discounting rate of 11% only.

c. Maximum allowable Levellized Tariff for this part is as per clause no. 2 of Amendment-V.

d. Bids not in confirmity with above provisions will be rejected

حمدر 11.05.2017 Signature of Authorized Signatory **Printed Name** Arun Kumar Khanna

Addres: C-138, Naraina Industrial Area, Phase-1, New Deihi - 110028

Date

Place Delhi

Designation

Managing Director







Implementation of 1000MW Grid Connected Roof Top Solar PV System Scheme for Government Buildings in Different States/ Union Territory of India Under CAPEX/ RESCO Model (500MW Capacity PHASE - I)

PRICE BID for RESCO (For Projects Ranging From 2 MWp to 50 MWp) - MAIN BID

Punjab_2MW

81. No.	Year of Operation	Tariff (INR / KWh)	Discount Factor @ 11%	Discounted Tariff (INR KWh)
1	2	3	4	5=3*4
1	1st Year (First Year)	3.32	1.000	3.32
Ż	2nd Year (Second Year)	3.32	0,901	2.99132
3	3rd Year (Third Year)	3.32	0.812	2.69584
4	4th Year (Fourth Year)	3.32	0.731	2.42692
5	Sth Year (Fifth Year)	3.32	0.659	2.18788
6	6th Year (Sixth Year)	3.32	0.593	1.96876
7	7th Year (Seventh Year)	3.32	0.535	1.7762
8	5th Year (Eighth Year)	3,32	0.482	1.60024
9	9th Year (Ninth Year)	3.32	0.434	1.44088
10	10th Year (Tenth Year)	3.32	0.391	1.29812
11	11th Year (Elevanth Year)	3.32	0.352	1.16864
12	12th Year (Twelveth Year)	3.32	0.317	1.05244
13	13th Year (Thirteenth Year)	3.32	0.286	0.94852
14	14th Year (Forteenth Year)	3,32	0.258	0.85856
15	15th Year (Fifteenth Year)	3.32	0.232	0.77024
16	16th Year (Sixteenth Year)	3.32	0.209	0.69388
17	17th Year (Seventeenth Year)	3.32	0.188	0.62416
18	18th Year (Eighteenth Year)	3.32	0.170	0.5644
19	19th Year (Nineteenth Year)	3.32	0.163	0.50796
20	20th Year (Twentleth Year)	3.32	0.138	0.45616
21	21st Year (Twenty First Year)	3.32	0.124	0.41168
22	22nd Year (Twenty Second Year)	3.32	0.112	0.37184
23	23rd Year (Twenty Third Year)	3.32	0.101	0.33532
24	24th Year (Twenty Fourth Year)	3.32	0.091	0.30212
25	25th Year (Twenty Fifth Year)	3.32	0.082	0.27224
1	Total	1	INR 31.045	
	Levellized Tariff for 25 Years	in INR / kWh) = X/9.351		INR 3.3
	Levellized Tariff for 25	· ·		Three Rupees, Thirty Two Palse

<u>Note-1</u>: - In case of discrepancy in the Main Bid (Excel File) and Electronic Form, the Price mentioned in the Excel File will prevail. Also it may be noted that the applicable incentive amount shall be released directly to successful bidder / developer in Indian Rupees (INR) only.

<u>Note - 2</u>: - The year of operation for first year shall be calculated w.e.f. date of commercial operation to 31st March of immediately succeeding financial year.

Note - 3: - The year of operation from second year upto twenty fifth year shall be calculated w.e.f. 1st April to 31st March of immediately succeeding financial year.

a. The levellized tariff shall be calculated up to three decimal places. However in case of a tie it may be expanded to break the tie.

b. Tariff stream quoted by the bidder shall be levellized with a discounting rate of 11% only.

- c. Maximum allowable Levellized Tariff for this part is as per clause no. 2 of Amendment-V.
- d. Bids not in confirmity with above provisions will be rejected

عمد

Signature of Authorized Signatory

Place Delhi

11.05.2017

Date

Addres: C-138, Naraina Industrial Area, D

Phase-1, New Delhi - 110028

Arun Kumar Khanna

Designation

Printed Name





SI/C&P/MNRE/1000MW RT/IND/122015

7 O N ementation of JUCENEW And Connected Roof Top Solar PV System Scheme for Government Buildings Different States/ Union Territory of India Under CAPEX/ RESCO Model (500MW Capacity PHASE - I) ementation of 1

PRICE BID for RESCO (For Projects Ranging From 2 MWp to 50 MWp) - MAIN BID

Si. No.	Year of Operation	Tariff (INR / kWh)	Discount Factor @ 11%	Discounted Tariff (INR kWh)
1	2	3	4	5=3*4
1	1st Year (First Year)	3.19	1.000	3.19
2	2nd Year (Second Year)	3.19	0.901	2.87419
3	3rd Year (Third Year)	3.19	0.812	2.59028
4	4th Year (Fourth Year)	3.19	0.731	2,33189
5	5th Year (Fifth Year)	3.19	0.659	2.10221
6	6th Year (Sixth Year)	3.19	0.593	1.89167
7	7th Year (Seventh Year)	3.19	0.535	1.70665
8	8th Year (Eighth Year)	3.19	0.482	1.53758
	9th Year (Ninth Year)	3.19	0.434	1.38446
	10th Year (Tenth Year)	3.19	0.391	1.24729
	11th Year (Eleventh Year)	3.19	0.352	1.12288
	12th Year (Twelveth Year)	3.19	0.317	1.01123
	13th Year (Thirtsenth Year)	3.19	0.286	0.91234
	14th Year (Forteenth Year)	3.19	0.258	0.82302
	15th Year (Fifteenth Year)	3.19	0.232	0.74008
	16th Year (Sixteenth Year)	3.19	0.209	0.66671
	17th Year (Seventeenth Year)	3.19	0.188	0.59972
	18th Year (Eightsenth Year)	3.19	0.170	0.5423
	19th Year (Nineteenth Year)	3.19	0.153	0.48807
	20th Year (Twentieth Year)	3.19	0.138	0.44022
	21st Year (Twenty First Year)	3,19	0.124	0.39556
	22nd Year (Twenty Second Year)	3.19	0.112	0.35728
	23rd Year (Twenty Third Year)	3.19	0.101	0.32219
	24th Year (Twenty Fourth Year)	3.19	0.091	0.29029
25 2	25th Year (Twenty Fifth Year)	3.19	0.082	0.26158
	Total		INR 29.830	
_	Levellized Tariff for 25 Years (in	n INR / kWh) = X/9.351	I	INR 3.19
	Levellized Tariff for 25)	′ears in Words		Three Point One Nine

For the state of Rajasthan - 1 MW

directly to successful bidder / developer in Indian Rupees (INR) only.

Note - 2: - The year of operation for first year shall be calculated w.e.f. date of commercial operation to 31st March of immediately succeeding financial year.

Note - 3: - The year of operation from second year upto twenty fifth year shall be calculated w.e.f. 1st April to 31st March of immediately succeeding financial year.

- The levellized tariff shall be calculated up to three decimal places. However in case of a tie it a. may be expanded to break the tie.
- Tariff stream quoted by the bidder shall be levellized with a discounting rate of 11% only. b.
- Maximum allowable Levellized Tariff for this part is as per clause no. 2 of Amendment-V. с.
- d. Bids not in confirmity with above provisions will be rejected

Date	12-05-2017	Signature of Aut	horized Signatory
Place	Delhi	Printed Name	Horizon Renewable Power Pvt. Ltd.
Address	910, PrakshDeep Building, 7 Tolstoy Marg New Delhi-110001	-	Manager- Business Development
		Seal For	Horizon Renewable Power Pvl. Ltd.

#Solar4everyone

Authorised Signatory/Director

910 Prakash Deep Building, 7 Tolstoy Marg, New Delhi -110001

T: 01142403018, 01142403019 | E: info@horizonrenewablepower.com | www.horizonrenewablepower.com

Implementation of 1000MW Grid Connected Roof Top Solar PV System Scheme for Government Buildings in Different States/ Union Territory of India Under CAPEX/ RESCO Model (500MW Capacity PHASE - I)

PRICE BID for RESCO (For Projects Ranging From 2 MWp to 50 MWp) - MAIN BID

General Category State of India - Tamilnadu-6221 kWp

SI. No.	Year of Operation	Tariff (INR / kWb)	Discount Factor @ 11%	Discounted Tariff (INR / kWh)
1	2	3	4	5 = 3 · 4
1	1st Year (First Year)	4.169	1.000	4.169
2	2nd Year (Second Year)	4.169	0.901	3.756269
з	3rd Year (Third Year)	4.169	0.812	3,385228
4	4th Year (Fourth Year)	4.169	0.731	3.047539
5	5th Year (Fifth Year)	4.169	0.659	2.747371
6	6th Year (5ixth Year)	4.169	0.593	2.472217
7	7th Year (Seventh Year)	4,169	0.535	2.230415
8	8th Year (Eighth Year)	4,169	0.482	2.009458
9	9th Year (Ninth Year)	4.169	0.434	1.609346
10	10th Year (Tenth Year)	4,169	0.391	1.630079
11	11th Year (Eleventh Year)	4.169	0,352	1.467488
12	12th Year (Twelveth Year)	4.169	0.317	1.321573
13	13th Year (Thirteenth Year)	4.169	0,286	1.192334
14	14th Year (Forteenth Year)	4.169	0.25B	1.075602
15	15th Year (Fifteenth Year)	4.169	0.232	0.967208
16	16th Year (Sixteenth Year)	4.169	0.209	0.871321
17	17th Year (Seventeenth Year)	4.169	0.188	0.783772
18	18th Year (Eighteenth Year)	4.169	0.170	0,70873
19	19th Year (Nineteenth Year)	4,169	0.153	0.637857
20	20th Year (Twentieth Year)	4.169	0.130	0.575322
21	21st Year (Twenty First Year)	4.169	0,124	0.516956
22	22nd Year (Twenty Second Year)	4.169	0.112	0.466928
23	23rd Year (Twenty Third Year)	4.169	0,101	0.421069
24	24th Year (Twenty Fourth Year)	4.169	0.091	0.379378
25	25th Year (Twenty Fifth Year)	4,169	0.082	0.341858
	Total		INR 38.984	
_	Levellized Tariff for	25 Years (in INR / kWh) = X/9.351		INR 4.1
	Levellized Ta	riff for 25 Years in Words		four rupess sixteen point nine paise

Note:1: - In case of discrepancy in the Main Bid (Excel File) and Electronic Form, the Price mentioned in the Excel File will prevail. Also It may be noted that the applicable incentive amount shall be released directly to successful bidder / developer in Indian Rupees (INR) only.

Note - 2: - The year of operation for first year shall be calculated w.e.f. date of commercial operation to 31st March of immediately succeeding financial year.

Note - 3: - The year of operation from second year upto twenty fifth year shall be calculated w.e.f. 1st April to 31st March of Immediately succeeding financial year.

a. The levellized tariff shall be calculated up to three decimal places. However in case of a tie it may be expanded to break the tie.

b. Tariff stream quoted by the bidder shall be levellized with a discounting rate of 11% only

c. Maximum allowable Levellized Tariff for this part is as per clause no. 2 of Amendment 14

d. Bids not in confirmity with above provisions will be rejected

12-05-2017 Date Place Hyderabad

Address

Mytrah Energy India Private Ltd. 8001, 8th Floor, Q-City, Nanakramguda, Gachibowti Hyderabad 500032, Telangana India

0 Signature of Authorized atory Weinerized angelator (quietines) W * Pal Director - Finance (Solar

Implementation of 1000MW Grid Connected Roof Top Solar PV System Scheme for Government Buildings in Different States/ Union Territory of India Under CAPEX/ RESCO Model (500MW Capacity PHASE - I)

PRICE BID for RESCO (For Projects Ranging From 2 MWp to 50 MWp) - MAIN BID

Telangana_2MW

1 1st Year (First Year) 3.14 1.000 2 2nd Year (Second Year) 3.14 0.901 1 3 3rd Year (Third Year) 3.14 0.812 1 4 4th Year (Fourth Year) 3.14 0.731 1 5 5th Year (Fifth Year) 3.14 0.659 1 6 6th Year (Sixth Year) 3.14 0.659 1 7 7th Year (Seventh Year) 3.14 0.535 1 8 8th Year (Eighth Year) 3.14 0.482 1 9 9th Year (Ninth Year) 3.14 0.432 1 10 10th Year (Tenth Year) 3.14 0.432 1 11 11th Year (Eleventh Year) 3.14 0.391 1 11 11th Year (Eleventh Year) 3.14 0.352 1 12 12th Year (Twelveth Year) 3.14 0.317 1 13 13th Year (Thirteenth Year) 3.14 0.236 1 14 14th Year (Forteenth Year) 3.14 0.236 1 15 16th Year (Fif	5 = 3 * 4 3.14 2.82914 2.54968 2.29534 2.06926 1.86202 1.6799 1.51348 1.36276 1.22774
2 2nd Year (Second Year) 3.14 0.901 :: 3 3rd Year (Third Year) 3.14 0.812 :: 4 4th Year (Fourth Year) 3.14 0.731 :: 5 5th Year (Fifth Year) 3.14 0.659 :: 6 6th Year (Seventh Year) 3.14 0.659 :: 7 7th Year (Seventh Year) 3.14 0.535 :: 8 8th Year (Eighth Year) 3.14 0.432 :: 9 9th Year (Ninth Year) 3.14 0.432 :: 10 10th Year (Tenth Year) 3.14 0.432 : 11 11th Year (Eleventh Year) 3.14 0.391 : 12 12th Year (Twelveth Year) 3.14 0.352 : 13 13th Year (Thirteenth Year) 3.14 0.236 : 14 14th Year (Forteenth Year) 3.14 0.236 : 15 16th Year (Fifteenth Year) 3.14 0.232 : 16 16th Year (Sixteenth Year) 3.14 0.232 : <t< td=""><td>2.82914 2.54968 2.29534 2.06926 1.86202 1.6799 1.51348 1.36276 1.22774</td></t<>	2.82914 2.54968 2.29534 2.06926 1.86202 1.6799 1.51348 1.36276 1.22774
3 3rd Year (Third Year) 3.14 0.812 2 4 4th Year (Fourth Year) 3.14 0.731 2 5 5th Year (Fifth Year) 3.14 0.659 2 6 6th Year (Sixth Year) 3.14 0.659 2 7 7th Year (Seventh Year) 3.14 0.593 2 7 7th Year (Seventh Year) 3.14 0.482 2 9 9th Year (Sighth Year) 3.14 0.482 2 9 9th Year (Sighth Year) 3.14 0.434 2 10 10th Year (Tenth Year) 3.14 0.391 2 11 11th Year (Eleventh Year) 3.14 0.352 2 12 12th Year (Twelveth Year) 3.14 0.317 3 13 13th Year (Thirteenth Year) 3.14 0.286 3 14 14th Year (Forteenth Year) 3.14 0.228 3 15 15th Year (Fifteenth Year) 3.14 0.232 3 16 16th Year (Sixteenth Year) 3.14 0.232 3 16 <td>2.54968 2.29534 2.06926 1.86202 1.6799 1.51348 1.36276 1.22774</td>	2.54968 2.29534 2.06926 1.86202 1.6799 1.51348 1.36276 1.22774
4 4th Year (Fourth Year) 3.14 0.731 5 5th Year (Fifth Year) 3.14 0.659 6 6th Year (Sixth Year) 3.14 0.593 7 7th Year (Seventh Year) 3.14 0.535 8 8th Year (Eighth Year) 3.14 0.482 9 9th Year (Ninth Year) 3.14 0.434 10 10th Year (Tenth Year) 3.14 0.391 11 11th Year (Eleventh Year) 3.14 0.352 12 12th Year (Twelveth Year) 3.14 0.317 13 13th Year (Thirteenth Year) 3.14 0.286 14 14th Year (Forteenth Year) 3.14 0.223 15 15th Year (Fifteenth Year) 3.14 0.232 16 16th Year (Sixteenth Year) 3.14 0.209 17 17th Year (Seventeenth Year) 3.14 0.188	2.29534 2.06926 1.86202 1.6799 1.51348 1.36276 1.22774
5 5th Year (Fifth Year) 3.14 0.659 6 6th Year (Sixth Year) 3.14 0.593 7 7th Year (Seventh Year) 3.14 0.535 8 8th Year (Eighth Year) 3.14 0.482 9 9th Year (Ninth Year) 3.14 0.434 10 10th Year (Tenth Year) 3.14 0.391 11 11th Year (Eleventh Year) 3.14 0.352 12 12th Year (Twelveth Year) 3.14 0.317 13 13th Year (Thirteenth Year) 3.14 0.286 14 14th Year (Forteenth Year) 3.14 0.223 15 15th Year (Fifteenth Year) 3.14 0.232 16 16th Year (Sixteenth Year) 3.14 0.209 17 17th Year (Seventeenth Year) 3.14 0.188	2.06926 1.86202 1.6799 1.51348 1.36276 1.22774
6 6th Year (Sixth Year) 3.14 0.593 7 7th Year (Seventh Year) 3.14 0.535 8 8th Year (Eighth Year) 3.14 0.482 9 9th Year (Ninth Year) 3.14 0.432 10 10th Year (Tenth Year) 3.14 0.391 11 11th Year (Eleventh Year) 3.14 0.391 12 12th Year (Twelveth Year) 3.14 0.352 13 13th Year (Thirteenth Year) 3.14 0.286 14 14th Year (Forteenth Year) 3.14 0.286 14 14th Year (Fifteenth Year) 3.14 0.223 15 15th Year (Sixteenth Year) 3.14 0.232 16 16th Year (Seventeenth Year) 3.14 0.209 17 17th Year (Seventeenth Year) 3.14 0.188	1.86202 1.6799 1.51348 1.36276 1.22774
7 7th Year (Seventh Year) 3.14 0.535 8 8th Year (Eighth Year) 3.14 0.482 9 9th Year (Ninth Year) 3.14 0.434 10 10th Year (Tenth Year) 3.14 0.391 11 11th Year (Eleventh Year) 3.14 0.352 12 12th Year (Twelveth Year) 3.14 0.317 13 13th Year (Thirteenth Year) 3.14 0.286 14 14th Year (Forteenth Year) 3.14 0.228 15 16th Year (Fifteenth Year) 3.14 0.232 16 16th Year (Sixteenth Year) 3.14 0.209 17 17th Year (Seventeenth Year) 3.14 0.188	1.6799 1.51348 1.36276 1.22774
8 8th Year (Eighth Year) 3.14 0.482 9 9th Year (Ninth Year) 3.14 0.434 10 10th Year (Tenth Year) 3.14 0.391 11 11th Year (Eleventh Year) 3.14 0.391 12 12th Year (Twelveth Year) 3.14 0.352 13 13th Year (Thirteenth Year) 3.14 0.286 14 14th Year (Forteenth Year) 3.14 0.286 14 14th Year (Forteenth Year) 3.14 0.228 15 16th Year (Fifteenth Year) 3.14 0.232 16 16th Year (Sixteenth Year) 3.14 0.209 17 17th Year (Seventeenth Year) 3.14 0.188	1.51348 1.36276 1.22774
9 9th Year (Ninth Year) 3.14 0.434 10 10th Year (Tenth Year) 3.14 0.391 11 11th Year (Eleventh Year) 3.14 0.352 12 12th Year (Twelveth Year) 3.14 0.317 13 13th Year (Thirteenth Year) 3.14 0.286 14 14th Year (Forteenth Year) 3.14 0.258 15 16th Year (Fifteenth Year) 3.14 0.232 16 16th Year (Sixteenth Year) 3.14 0.209 17 17th Year (Seventeenth Year) 3.14 0.188	1.36276 1.22774 ´
10 10th Year (Tenth Year) 3.14 0.391 11 11th Year (Eleventh Year) 3.14 0.352 12 12th Year (Twelveth Year) 3.14 0.317 13 13th Year (Thirteenth Year) 3.14 0.286 14 14th Year (Forteenth Year) 3.14 0.258 15 15th Year (Fifteenth Year) 3.14 0.232 16 16th Year (Sixteenth Year) 3.14 0.209 17 17th Year (Seventeenth Year) 3.14 0.188	1.22774
11 11th Year (Eleventh Year) 3.14 0.352 12 12th Year (Twelveth Year) 3.14 0.317 13 13th Year (Thirteenth Year) 3.14 0.286 14 14th Year (Forteenth Year) 3.14 0.258 15 16th Year (Fifteenth Year) 3.14 0.232 16 16th Year (Sixteenth Year) 3.14 0.209 17 17th Year (Seventeenth Year) 3.14 0.188	and the second se
12 12th Year (Twelveth Year) 3.14 0.317 13 13th Year (Thirteenth Year) 3.14 0.286 14 14th Year (Forteenth Year) 3.14 0.258 15 16th Year (Fifteenth Year) 3.14 0.232 16 16th Year (Sixteenth Year) 3.14 0.209 17 17th Year (Seventeenth Year) 3.14 0.188	
13 13th Year (Thirteenth Year) 3.14 0.286 14 14th Year (Forteenth Year) 3.14 0.258 15 15th Year (Fifteenth Year) 3.14 0.232 16 16th Year (Sixteenth Year) 3.14 0.209 17 17th Year (Seventeenth Year) 3.14 0.188	1.10528
14 14th Year (Forteenth Year) 3.14 0.258 15 15th Year (Fifteenth Year) 3.14 0.232 16 16th Year (Sixteenth Year) 3.14 0.209 17 17th Year (Seventeenth Year) 3.14 0.188	0,99538
15 15th Year (Fifteenth Year) 3.14 0.232 16 16th Year (Sixteenth Year) 3.14 0.209 17 17th Year (Seventeenth Year) 3.14 0.188	0.89804
16 16th Year (Sixteenth Year) 3.14 0.209 17 17th Year (Seventeenth Year) 3.14 0.188	0.81012
17 17th Year (Seventeenth Year) 3.14 0.188	0.72848
	0,65626
18 18th Verr (Fighteenth Verr) 314 0170	0.59032
	0.5338
	0.48042
20 20th Year (Twentieth Year) 3.14 0.138	0.43332
	0.38936
22 22nd Year (Twenty Second Year) 3.14 0.112	0.35168
	0.31714
	0.28574
	0.25748
Total INR 29.362	
Levellized Tariff for 25 Years (in INR / kWh) = X/9.351	INR 3.1
Levellized Tariff for 25 Vears in Words	tupees, n Paise

Note - 3: - The year of operation from second year upto twenty fifth year shall be calculated w.e.f. 1st April to 31st March of immediately succeeding financial year.

a. The levellized tariff shall be calculated up to three decimal places. However in case of a tie it may be expanded to break the tie.

b. Tariff stream quoted by the bidder shall be levellized with a discounting rate of 11% only.

c. Maximum allowable Levellized Tariff for this part is as per clause no. 2 of Amendment-V.

d. Bids not in confirmity with above provisions will be rejected

Date 11/5/2017

Place Jaipur

Signature of Authorized Signatory

Printed Name Rahul Choudhary

Address Ishwar Cables Private Limited F 661 ROAD NO 9F2 VKI AREA JAIPUR RAJASTHAN INDIA Designation Seal

For Ishwar Cables Ert. Lid. Authorised Signatory

Executive Director

NIT for Implementation of 1000 MW Grid Connected Roof Top Solar PV System Scheme for Government Buildings in Different States / Union Territory of India Under CAPEX / RESCO Model (500 MW phase-I)

PRICE BID for RESCO (For Projects Ranging From 2 MWp to 50 MWp)

(To be Submitted Online in a Separate Envelope for General Category for Different States (Separate for each States / Union Territories / Islands) and Special Category States (separate for each State) of India Tripura super scribing name of the State / Special Category State)

SI. No.	Year of Operation	Tariff (INR / kWh)	Discount Factor @ 11%	Discounted Tariff (INR FWh)
1	2	3	4	5=3*4
1	1st Year (First Year)	2.74	1.000	2.74
2	2nd Year (Second Year)	2.74	0.901	2.46874
3	3rd Year (Third Year)	2.74	0.812	2.22488
4	4th Year (Fourth Year)	2.74	0.731	2.00294
5	5th Year (Fifth Year)	2.74	0.659	1.80566
6	6th Year (Sixth Year)	2.74	0.593	1.02482
7	7th Year (Seventh Year)	2.74	0.535	1.4659
8	8th Year (Eighth Year)	2.74	0.482	1.32068
9	9th Year (Ninth Year)	2.74	0.434	1,18916
10	10th Year (Tenth Year)	2.74	0.391	1.07134
11	11th Year (Eleventh Year)	2.74	0.352	0.96448
12	12th Year (Twelveth Year)	2.74	0.317	0.86858
13	13th Year (Thirteenth Year)	2.74	0.286	0.78364
14	14th Year (Forteenth Year)	2.74	0.258	0.70692
15	15th Year (Fifteenth Year)	2.74	0.232	0.63568
16	16th Year (Sixteenth Year)	2.74	0.209	0.57266
17	17th Year (Seventeenth Year)	2.74	0.188	0.51512
18	18th Year (Eighteenth Year)	2.74	0.170	0.4658
19	19th Year (Nineteenth Year)	2.74	0.153	0.41922
20	20th Year (Twentieth Year)	2.74	0.138	0.37812
21	21st Year (Twenty First Year)	2.74	0.138	0.33976
22	22nd Year (Twenty Second Year)	2.74	0.112	0.30688
23	23rd Year (Twenty Third Year)	2.74	0.101	0.27674
24	24th Year (Twenty Fourth Year)	2.74	0.091	0.2/934
25	25th Year (Twenty Fifth Year)	2.74	0.082	0.22468
	Total		INR 25.622	0.2 :400
	Levellized Tariff for 25 years(in	n INR / kWh) = X/9.351	111120.022	INR 2.74
	Levellized Tariff for 25 y			Two Ruper's Seventy Four Paise

<u>Note-1</u>: - In case of discrepancy in the price bid (Excel File) and Electronic Form, the Price mentioned in the Excel File will prevail. Also It may be noted that the applicable incentive amount shall be released directly to successful bidder / developer in Indian Rupees (INR) only.

Note - 2 - The year of operation for first year shall be calculated w.e.f. date of commercial operation to 31st March of immediately succeeding financial year.

Note - 3 - The year of operation from second year upto twenty fifth year shall be calculated w.e.f. 1st April to 31st March of immediately succeeding financial year.

a. The levellized tariff shall be calculated up to three decimal places. However in case of a tie it may be expanded to break the tie.

b. Tariff stream quoted by the bidder shall be levellized with a discounting rate of 11% only.

C. Maximum allowable Levellized Tariff for this part is as per clause no. 2.1.4, Part-II of RfS document.

d. Bids not in conformity with above provisions will be rejected

12/05/2017. Date



Karan Sharma

Director



Place Gurgaon

Printed Name Karan

#408,4th Floor,Emaar MGF, Address Plam Spring Plaza,Golf Course Road, Sector-53,Gurgaon-122002

Designation

Seal

NIT for Implementation of 1000MW Grid Connected Roof Top Solar PV System Scheme for Government Buildings In Different States / Union Territory of India Under RESCO Model

PRICE BID for RESCO (For Projects Ranging From 2 MWp to 100 MWp)

Super (To be Submitted Online in a Separate Envelope for Genral Category for Different States (Separate for each States / Union Territories / Islands) and Special Category States (separate for each State) of India scribing name of the State / Special Category State)

State -

UTTAR PRADESH

Rs Three & paise Ninety One only		ears in Words	Levellized Tariff for 25 years in Words
INR 3.91		NR / kWh) = 36,56/9.351	Levellized Tariff for 25 years (in INR / kWh) = 36,56/9.351
	INR 36.56		Total
0.32062	0.082	3.91	25th Year (Twenty Fifth Year)
0.35581	0.091	3.91	24th Year (Iwenty Fourth Year)
0.39491	0.101	3.91	23rd Year (Twenty Third Year)
0.43792	0.112	3.91	zznd Year (Iwenty Second Year)
0.48484	0.124	3.91	21st rear (Iwenty First Year)
0.53958	0.138	3.91	zum Year (Iwenbeth Year)
0.59823	0.153	3.91	19th Year (Nineteenth Year)
0.6647	0.170	3.91	15th Year (Eighteenth Year)
0.73508	0.188	3.91	17th Year (Seventeenth Year)
0.81719	0.209	3.91	16th Year (Sixteenth Year)
0.90712	0.232	3.91	15th Year (Fifteenth Year)
1.00878	0.258	3.91	14th Year (Fortsenth Year)
1.11826	0.286	3.91	13th Year (Thirteenth Year)
1.23947	0.317	3.91	12th Year (Twelveth Year)
1.37632	0.352	3.91	11th Year (Eleventh Year)
1.52881	0.391	3.91	10th Year (Tenth Year)
1.69694	0.434	3.91	9th Year (Ninth Year)
1.88462	0.482	3.91	8th Year (Eighth Year)
2.09185	0.635	3.91	7th Year (Seventh Year)
2.31863	0.593	3.91	6th Year (Sixth Year)
2.57669	0.659	3.91	5th Year (Fifth Year)
2.85821	0.731	3.91	4th Year (Fourth Year)
3.17492	0.812	3.91	3rd Year (Third Year)
3.52291	0.901	3.91	2nd Year (Second Year)
3.91	1.000	3.91	1st Year (First Year)
5=3*4	4	e	2
(INR / KWh)	Discount Factor @ 11%	Tariff (INR / kWh)	Year of Operation

directly to successful bidder / developer in Indian Rupees (INR) only.

Note -2: - The year of operation for first year shall be calculated w.e.f. date of commercial operation to 31st March of mmediately succeeding financial year. Note - 3: - The year of operation from second year upto twenty fifth year shall be calculated w.e.f. 1st April to 31st March of mmediately succeeding financial year.

The levelized tariff shall be calculated up to three decimal places. However in case of a tie it may be expanded to

a. break the tie.

b. Tariff stream quoted by the bidder shall be levellized with a discounting rate of 11% only.

c. Maximum allowable Levellized Tariff for this part is as per clause no. 2.1.4, Part-II of RfS document.

d. Bids not in conformity with above provisions will be rejected

Signature of Authorized Signatory 12.05.2017 Date

Gurgaon Place

Plot No. 1, Sector-34, Gurgaon - 122001 (Haryana) Sudhir Power Limited Address

Seal

Designation

General Manager

Printed Name

Ajay Bhutani



Implementation of 1000MW Grid Connected Roof Top Solar PV System Scheme for Government Buildings in Different States/ Union Territory of India Under CAPEX/ RESCO Model (500MW Capacity PHASE - I)

PRICE BID for RESCO (For Projects Ranging From 2 MWp to 50 MWp) - MAIN BID

Uttarakhand_3MW

SI. No.	Year of Operation	Tariff (INR / kWh)	Discount Factor @ 11%	Discounted Tariff (INR) kWh)
1	2	3	4	5 = 3 * 4
1	1st Year (First Year)	2,38	1.000	2,38
2	2nd Year (Second Year)	2.38	0.901	2.14438
3	3rd Year (Third Year)	2.38	0.812	1.93256
4	4th Year (Fourth Year)	2.38	0.731	1.73978
5	5th Year (Fifth Year)	2.38	0.659	1.56842
6	6th Year (Sixth Year)	2,38	0.593	1,41134
7	7th Year (Seventh Year)	2.38	0.535	1.2733
8	8th Year (Eighth Year)	2.38	0.482	1.14716
9	9th Year (Ninth Year)	2.38	0.434	1.03292
10	10th Year (Tenth Year)	2.38	0.391	0.93058
11	11th Year (Eleventh Year)	2,38	0,352	0.83776
12	12th Year (Twelveth Year)	2.38	0.317	0.75446
13	13th Year (Thirteenth Year)	2.38	0.286	0.68068
14	14th Year (Forteenth Year)	2.38	0.258	0.61404
15	15th Year (Fifteenth Year)	2,38	0.232	0.55216
16	16th Year (Sixteenth Year)	2.38	0.209	0.49742
17	17th Year (Seventeenth Year)	2,38	0.188	0.44744
18	18th Year (Eighteenth Year)	2.38	0.170	0.4046
19	19th Year (Nineteenth Year)	2.38	0.153	• 0.36414
20	20th Year (Twentieth Year)	2.38	0.138	0.32844
21	21st Year (Twenty First Year)	2.38	0.124	0.29512
22	22nd Year (Twenty Second Year)	2.38	0.112	0.26656
23	23rd Year (Twenty Third Year)	2.38	0.101	0.24038
24	24th Year (Twenty Fourth Year)	2.38	0.091	0.21658
			1 0.082	0.19516
25	25th Year (Twenty Fifth Year) Total Levellized Tariff for 25 Years Levellized Tariff for 25		INR 22.255	INR 2.3 Two Rupees, Thirty
lote-1	Total Levellized Tariff for 25 Years Levellized Tariff for 25 : - In case of discrepancy in the Main cel File will prevail. Also It may be not	(in INR / kWh) = X/9.351 Years in Words Bid (Excel File) and Ele ted that the applicable	INR 22.255 ctronic Form, t incentive amou	Two Rupees, Thirty Eight Paise he Price mentioned in
Note-1 he Exc lirectly Note - 1st M Note -	Total Levellized Tariff for 25 Years Levellized Tariff for 25 : - In case of discrepancy in the Main cel File will prevail. Also It may be not y to successful bidder / developer in I 2: - The year of operation for first yea larch of immediately succeeding finar 3: - The year of operation from secor o 31st March of immediately succeed	(in INR / kWh) = X/9.351 Years in Words Bid (Excel File) and Ele ted that the applicable Indian Rupees (INR) on ar shall be calculated v ncial year. Ind year upto twenty fif ling financial year.	INR 22.255 ctronic Form, t incentive amou ly. v.e.f. date of co th year shall be	Two Rupees, Thirty Eight Paise he Price mentioned in unt shall be released mmercial operation to calculated w.e.f. 1st
Note-1 he Exc lirectly Note - 1st M Note - April to	Total Levellized Tariff for 25 Years Levellized Tariff for 25 Levellized Tariff for 25 : - In case of discrepancy in the Main cel File will prevail. Also It may be not y to successful bidder / developer in I <u>2</u> : - The year of operation for first yea larch of immediately succeeding finar <u>3</u> : - The year of operation from secor o 31st March of immediately succeed The levellized tariff shall be calcula	(in INR / kWh) = X/9.351 Years in Words Bid (Excel File) and Ele ted that the applicable Indian Rupees (INR) on ar shall be calculated v ncial year. Ind year upto twenty fif ling financial year. ted up to three decima	INR 22.255 ctronic Form, t incentive amou ly. v.e.f. date of co th year shall be	Two Rupees, Thirty Eight Paise he Price mentioned in unt shall be released mmercial operation to calculated w.e.f. 1st
lote-1 he Exc lirectly lote - 1st M	Total Levellized Tariff for 25 Years Levellized Tariff for 25 Levellized Tariff for 25 : - In case of discrepancy in the Main cel File will prevail. Also It may be not y to successful bidder / developer in I 2: - The year of operation for first yea arch of immediately succeeding finan 3: - The year of operation from secor o 31st March of immediately succeed The levellized tariff shall be calcula may be expanded to break the tie.	(in INR / kWh) = X/9.351 Years in Words Bid (Excel File) and Ele ted that the applicable Indian Rupees (INR) on ar shall be calculated v incial year. Ind year upto twenty fif ling financial year. ted up to three decima	INR 22.255 ctronic Form, t incentive amou ly. v.e.f. date of co th year shall be al places. Howe	Two Rupees, Thirty Eight Paise he Price mentioned in ant shall be released mmercial operation to calculated w.e.f. 1st ver in case of a tie it
ote-1 ne Exc irectly ote - 1st M lote - pril to	Total Levellized Tariff for 25 Years Levellized Tariff for 25 Levellized Tariff for 25 : - In case of discrepancy in the Main cel File will prevail. Also It may be not y to successful bidder / developer in I 2: - The year of operation for first yea arch of immediately succeeding finan 3: - The year of operation for m secor o 31st March of immediately succeed The levellized tariff shall be calcula may be expanded to break the tie. Tariff stream quoted by the bidder	(in INR / kWh) = X/9.351 Years in Words Bid (Excel File) and Ele ted that the applicable Indian Rupees (INR) on ar shall be calculated v incial year. Ind year upto twenty fif ling financial year. ted up to three decima shall be levellized with	INR 22.255 ctronic Form, t incentive amou ly. v.e.f. date of co th year shall be al places. Howe n a discounting	Two Rupees, Thirty Eight Paise he Price mentioned in ant shall be released mmercial operation to calculated w.e.f. 1st ver in case of a tie it rate of 11% only.
ote-1 ne Exc irectly lote - 1st M lote - pril to a.	Total Levellized Tariff for 25 Years Levellized Tariff for 25 Levellized Tariff for 25 : - In case of discrepancy in the Main cel File will prevail. Also It may be not y to successful bidder / developer in I 2: - The year of operation for first yea arch of immediately succeeding finan 3: - The year of operation from secor o 31st March of immediately succeed The levellized tariff shall be calcula may be expanded to break the tie.	(in INR / kWh) = X/9.351 Years in Words Bid (Excel File) and Ele ted that the applicable Indian Rupees (INR) on ar shall be calculated v incial year. Ind year upto twenty fif ling financial year. ted up to three decima shall be levellized with	INR 22.255 ctronic Form, t incentive amou ly. v.e.f. date of co th year shall be al places. Howe n a discounting	Two Rupees, Thirty Eight Paise he Price mentioned in ant shall be released mmercial operation to calculated w.e.f. 1st ver in case of a tie it rate of 11% only.
lote-1 he Exc lirectly lote - 1st M lote - April to a. b.	Total Levellized Tariff for 25 Years Levellized Tariff for 25 Levellized Tariff for 25 : - In case of discrepancy in the Main cel File will prevail. Also It may be not y to successful bidder / developer in I 2: - The year of operation for first yea arch of immediately succeeding finan 3: - The year of operation for m secor o 31st March of immediately succeed The levellized tariff shall be calcula may be expanded to break the tie. Tariff stream quoted by the bidder	(in INR / kWh) = X/9.351 Years in Words Bid (Excel File) and Ele ted that the applicable Indian Rupees (INR) on ar shall be calculated v incial year. Ind year upto twenty fif ling financial year. ted up to three decima shall be levellized with iff for this part is as pe	INR 22.255 ctronic Form, t incentive amou ly. /.e.f. date of co th year shall be al places. Howe h a discounting r clause no. 2 o	Two Rupees, Thirty Eight Paise he Price mentioned in ant shall be released mmercial operation to calculated w.e.f. 1st ver in case of a tie it rate of 11% only.
lote-1 he Exc irectly lote - 1st M lote - pril to a. b. c.	Total Levellized Tariff for 25 Years Levellized Tariff for 25 Levellized Tariff for 25 :- In case of discrepancy in the Main cel File will prevail. Also It may be not y to successful bidder / developer in I 2: - The year of operation for first yea arch of immediately succeeding finar 3: - The year of operation from secor o 31st March of immediately succeed The levellized tariff shall be calcula may be expanded to break the tie. Tariff stream quoted by the bidder Maximum allowable Levellized Tar	(in INR / kWh) = X/9.351 Years in Words Bid (Excel File) and Ele ted that the applicable Indian Rupees (INR) on ar shall be calculated v incial year. Ind year upto twenty fif ling financial year. ted up to three decima shall be levellized with iff for this part is as pe	INR 22.255 ctronic Form, t incentive amou ly. v.e.f. date of co th year shall be al places. Howe h a discounting r clause no. 2 o red	Two Rupees, Thirty Eight Paise he Price mentioned in ant shall be released mmercial operation to calculated w.e.f. 1st ver in case of a tie it rate of 11% only.
lote-1 ne Exc irectly lote - <u>1st M</u> lote - pril to a. b. c. d. d. bate	Total Levellized Tariff for 25 Years Levellized Tariff for 25 Levellized Tariff for 25 :- In case of discrepancy in the Main cel File will prevail. Also It may be not y to successful bidder / developer in I 2: - The year of operation for first yea arch of immediately succeeding finar 3: - The year of operation from secor o 31st March of immediately succeed The levellized tariff shall be calcula may be expanded to break the tie. Tariff stream quoted by the bidder Maximum allowable Levellized Tari Bids not in confirmity with above p	(in INR / kWh) = X/9.351 Years in Words Bid (Excel File) and Ele ted that the applicable Indian Rupees (INR) on ar shall be calculated v incial year. Ind year upto twenty fif ling financial year. ted up to three decima shall be levellized with iff for this part is as pe provisions will be reject	INR 22.255 ctronic Form, t incentive amou ly. v.e.f. date of co th year shall be al places. Howe h a discounting r clause no. 2 o red	Two Rupees, Thirty Eight Paise he Price mentioned in ant shall be released mmercial operation to calculated w.e.f. 1st ver in case of a tie it rate of 11% only. f Amendment-V.
lote-1 ne Exc irectly lote - 1st M lote - 1st M a. b. c. d. b. c. d. b. c. d. b. c. d.	Total Levellized Tariff for 25 Years Levellized Tariff for 25 Levellized Tariff for 25 :- In case of discrepancy in the Main cel File will prevail. Also It may be not y to successful bidder / developer in I 2: - The year of operation for first yea arch of immediately succeeding finar 3: - The year of operation from secon o 31st March of immediately succeed The levellized tariff shall be calcula may be expanded to break the tie. Tariff stream quoted by the bidder Maximum allowable Levellized Tari Bids not in confirmity with above p 11/5/2017	(in INR / kWh) = X/9.351 Years in Words Bid (Excel File) and Ele ted that the applicable Indian Rupees (INR) on ar shall be calculated v incial year. Ind year upto twenty fif ling financial year. ted up to three decima shall be levellized with iff for this part is as pe provisions will be reject Signature of Autho	INR 22.255 ctronic Form, t incentive amou ly. v.e.f. date of co th year shall be al places. Howe h a discounting r clause no. 2 o red rized Signatory Rahul Choudh Executive Dire	Two Rupees, Thirty Eight Paise he Price mentioned in ant shall be released mmercial operation to calculated w.e.f. 1st ver in case of a tie it rate of 11% only. f Amendment-V.

Page 2 of 2

Implementation of 1000MW Grid Connected Roof Top Solar PV System Scheme for Government Buildings in Different States/ Union Territory of India Under CAPEX/ RESCO Model (500MW Capacity PHASE - I)

PRICE BID for RESCO (For Projects Ranging From 2 MWp to 50 MWp) - MAIN BID

West Bengal_3MW

SI. No.	Year of Operation	Tariff (INR / kWh)	Discount Factor @ 11%	Discounted Tariff (INR / kWh)
1	2	3	4	5 = 3 * 4
1	1st Year (First Year)	3.62	1.000	3.62
2	2nd Year (Second Year)	3.62	0.901	3.26162
3	3rd Year (Third Year)	3.62	0.812	2.93944
4	4th Year (Fourth Year)	3.62	0.731	2.64622
	5th Year (Fifth Year)	3.62	0.659	2.38558
6	6th Year (Sixth Year)	3.62	0.593	2.14666
7	7th Year (Seventh Year)	3.62	0.535	1.9367
8	8th Year (Eighth Year)	3.62	0.482	1.74484
9	9th Year (Ninth Year)	3.62	0.434	1.57108
10	10th Year (Tenth Year)	3.62	0.391	1.41542
11	11th Year (Eleventh Year)	3.62	0.352	1.27424
12	12th Year (Twelveth Year)	3.62	0.317	1.14754
13	13th Year (Thirteenth Year)	3.62	0.286	1.03532
14	14th Year (Forteenth Year)	3.62	0.258	0.93396
15	15th Year (Fifteenth Year)	3.62	0.232	0.83984
16	16th Year (Sixteenth Year)	3,62	0.209	0.75658
17	17th Year (Seventeenth Year)	3.62	0.188	0.68056
18	18th Year (Eighteenth Year)	3.62	0.170	0,6154
19	19th Year (Nineteenth Year)	3.62	0.153	0.55386
20	20th Year (Twentieth Year)	3.62	0.138	0.49956
21	21st Year (Twenty First Year)	3.62	0.124	0.44888
22	22nd Year (Twenty Second Year)	3,62	0.112	0.40544
23	23rd Year (Twenty Third Year)	3.62	0.101	0,36562
	24th Year (Twenty Fourth Year)	3.62	0.091	0.32942
24				0.29684
24 25	25th Year (Twenty Fifth Year)	3.62	0.082	0.29004
	25th Year (Twenty Fifth Year) Total Levellized Tariff for 25 Years (i	in INR / kWh) = X/9.351	INR 33.851	INR 3.62 Three Rupees, Sixty
25 <u>Note-1</u> : the Exce directly Note - 2	25th Year (Twenty Fifth Year) Total Levellized Tariff for 25 Years (i Levellized Tariff for 25 - In case of discrepancy in the Main B el File will prevail. Also It may be note to successful bidder / developer in Ir : - The year of operation for first yea	in INR / kWh) = X/9,351 Years in Words Bid (Excel File) and Elec ed that the applicable Indian Rupees (INR) onl r shall be calculated w	INR 33.851 ctronic Form, t incentive amou	INR 3.62 Three Rupees, Sixty Two Paise he Price mentioned in ant shall be released
25 Note-1: the Exce directly Note - 2 31st Ma Note - 3	25th Year (Twenty Fifth Year) Total Levellized Tariff for 25 Years (i Levellized Tariff for 25 - In case of discrepancy in the Main B el File will prevail. Also It may be note to successful bidder / developer in Ir	in INR / kWh) = X/9,351 Years in Words Bid (Excel File) and Elec ad that the applicable ndian Rupees (INR) onl r shall be calculated w cial year. d year upto twenty fift ng financial year. ed up to three decima shall be levellized with ff for this part is as per	INR 33.851 ctronic Form, th incentive amou y. .e.f. date of co th year shall be I places. Howe a discounting clause no. 2 o	INR 3.62 Three Rupees, Sixty Two Paise the Price mentioned in ant shall be released mmercial operation to calculated w.e.f. 1st ver in case of a tie it rate of 11% only.
25 Note-1: the Exce directly Note - 2 31st Ma Note - 3 April to a. b. c. d.	25th Year (Twenty Fifth Year) Total Levellized Tariff for 25 Years (i Levellized Tariff for 25 Years (i Levellized Tariff for 25 - In case of discrepancy in the Main B el File will prevail. Also It may be note to successful bidder / developer in Ir : - The year of operation for first yea rch of immediately succeeding finan : - The year of operation from second 31st March of immediately succeeding The levellized tariff shall be calculat may be expanded to break the tie. Tariff stream quoted by the bidder s Maximum allowable Levellized Tariff	in INR / kWh) = X/9,351 Years in Words Bid (Excel File) and Elec ad that the applicable ndian Rupees (INR) onl r shall be calculated w cial year. d year upto twenty fift ng financial year. ed up to three decima shall be levellized with ff for this part is as per	INR 33.851 ctronic Form, th incentive amou y. .e.f. date of co th year shall be I places. Howe a discounting clause no. 2 o ed	INR 3.62 Three Rupees, Sixty Two Paise the Price mentioned in ant shall be released mmercial operation to calculated w.e.f. 1st ver in case of a tie it rate of 11% only.
25 Note-1: the Exce directly Note - 2 31st Ma Note - 3 April to a. b. c.	25th Year (Twenty Fifth Year) Total Levellized Tariff for 25 Years (i Levellized Tariff for 25 Years (i Levellized Tariff for 25 - In case of discrepancy in the Main B el File will prevail. Also It may be note to successful bidder / developer in Ir : - The year of operation for first yea rch of immediately succeeding finan : - The year of operation from second 31st March of immediately succeeding The levellized tariff shall be calculat may be expanded to break the tie. Tariff stream quoted by the bidder s Maximum allowable Levellized Tarif Bids not in confirmity with above pr	in INR / kWh) = X/9,351 Years in Words Bid (Excel File) and Elec- ed that the applicable adian Rupees (INR) onl r shall be calculated w cial year. d year upto twenty fift ng financial year. ed up to three decima shall be levellized with ff or this part is as per rovisions will be reject	INR 33.851 ctronic Form, th incentive amou y. .e.f. date of co th year shall be I places. Howe a discounting clause no. 2 o ed	INR 3.62 Three Rupees, Sixty Two Paise the Price mentioned in ant shall be released mmercial operation to e calculated w.e.f. 1st ver in case of a tie it rate of 11% only. f Amendment-V.
25 Note-1: the Exce directly Note - 2 31st Ma Note - 3 April to a. b. c. d. Date Place	25th Year (Twenty Fifth Year) Total Levellized Tariff for 25 Years (i Levellized Tariff for 25 Years (i Levellized Tariff for 25 - In case of discrepancy in the Main B el File will prevail. Also It may be note to successful bidder / developer in Ir : - The year of operation for first yea rch of immediately succeeding finan : - The year of operation from second 31st March of immediately succeeding The levellized tariff shall be calculat may be expanded to break the tie. Tariff stream quoted by the bidder s Maximum allowable Levellized Tariff Bids not in confirmity with above pr 11/5/2017	in INR / KWh) = X/9,351 Years in Words Bid (Excel File) and Elec- ed that the applicable adian Rupees (INR) onl r shall be calculated w cial year. d year upto twenty fift ng financial year. ed up to three decima shall be levellized with ff for this part is as per rovisions will be reject Signature of Author	INR 33.851 ctronic Form, the incentive amount y. .e.f. date of co th year shall be I places. Howe a discounting clause no. 2 of ed ized Signatory Rahul Choudr Executive Dire	INR 3.62 Three Rupees, Sixty Two Paise the Price mentioned in ant shall be released mmercial operation to e calculated w.e.f. 1st ver in case of a tie it rate of 11% only. f Amendment-V.